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PHYSICS | st s

1. A particle moving on a circular path experiences
centripetal force F. If the radius of circle is reduced to half
and its angular speed becomes twice, then centripetal
force on itbecomes

(1) 2F
@ %

(3) 8F
(4) 4F

2. A heavy chain of length L, lies on top of a horizontal table.
If the coefficient of friction between the chain and the table
is 0.20, then maximum length of chain that can hang over
edge of the table is

1) 4L

(2) 5L

3) %

OF”

A ball of mass 0.5 kg moving with speed v = 20 m st
strikes a hard wall at an angle of 30° with the wall as

shown. If the ball is in contact with the wall for 0.05
seconds, then average force acting on the ball is

v
(1) 173.2N
(2) 346.2 N
(3) 200 N
(4) 100 N

FATDR T R TR Teb DUl b1 deT F DT IFHI DT &
IS g7 6t e ameft = & STl § T SHeh! vt @t R A
STeh B, Y $9 TR @ aTelT 1o Je 2l STl &

(1) 2F

@3

(3) 8F

(4) 4F

SIS L 1 U TRY o U &R A & SR @ B S o SR A
& &g Gur OTiE 0.20 &, @ A9 & fHIR W dAcaH areft 97 6t
Sfferee TS &

4L

@ L

@)%

4) IL

el v =20 m's L WM 0.5 kg S o Ueb 15 52117 SFER

PSR SR F 30° P P R THCH &1 IS I SIR &b 12T GuHh o
0.05 Tbe e & B, a1 e R fhanefier sifgd se1 &

v
(1) 1732 N
(2) 346.2 N
(3) 200 N
(4) 100 N




Final Test Series(P1)-2024-25_ Test-02B

Given below are two statements:

Statement-I: A block is at rest on an inclined plane as
shown. If the coefficient of friction between the block and
inclined plane is y, then frictional force acting on block is
mgsin@.

Statement-ll: The net contact force on the block is mg.

In the light of the above statements, choose the most
appropriate answer from the options given below.

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

A horizontal force of 10 N is just sufficient to hold a block
stationary against a vertical wall. If coefficient of friction
between the block and wall is 0.25 then the weight of the
block will be

10N
o

T R R

(1)5.2N
(2) 25N
(3) 6.8 N
(4) 45N

A particle of mass 1 kg is projected with a speed of 20 ms™

Lin vertically upward direction. The work done by force of
gravitation during the time while particle goes up will be
(lgnore the effect of air resistance)

(1) =100
(2) —200J
(3) -50J
(4) —400J

Hrrr wee Ry M E:

PUF-I: U I ST STTHR Ueh 3T el R foRmrawen 5 g1 S
e IR 3T dcl & i Bor TONiE B, A Jeb R HRIRG N0y
T mgsin® &

PHYA-II: Teb | A1 TIH 9 mg B

SRIh BT MR W A 37 T et J § T IRh IR T
TG IV

(1) P | 3R BT 11 A1 TEl &
(2) @ | 3R BT 1| 1 Tere &
(3) DU | T & oifehT oM Il TeTdl &
(4) D | TTefe & 2Tfch he || el &

10 N &7 &S 97 Ud b Y Udh FHeafer dar & IH f[BR
e & AT St wfe 81 3 T iR SR & e exfor uries 0.25
8, AT BT AR BRI

10N

T T T TR TR TR T T T

(1)5.2N
(2) 25N
(3) 6.8 N
(4) 45N

1 kg ST & T U BT 20 m s+ &Y A1el I HealeR HWR b
o = wafe fobarm ST B1 601 & HWR TH & SR TRy It
SIRT 35T 7T R BT (IR URIRIET & WTd bt Suef Hif)

(1) -100J
(2) —200J
(3) -50J
(4) -400J
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Which of the following graph shows the correct variation of
kinetic energy (KE) and linear momentum (P) of a particle?

KE 4

M
1) i
KE g
(2
LP
KE A
"
—

©)

KE 1

4)

A block of mass 2 kg is free to move along x-axis. Initially it
is at rest and thereafter it is subjected to time-dependent
force F(t) along x-direction, whose variation with time () is
shown. The kinetic energy of particle att =4 s will be

F(t) 1

-

4 N-

O

(1) 8J

(2) 123
(3) 243
@) 163

ARy & I i I fhedt Fo1 Y TS Sovff (KE) e i

HIAT (P) & T&! ufRac ol gerfar 8?2
KE A
(1)
P
KE #
(2)
=]
KE A
(3)
P
KE A
(4)
P

2 kg ST BT U 3T x-31& & I TR e o AT e 81
RY H I8 fRMTEwe § 8 71 39 18 39 W x-feen & gy
TII-3MAT 9 F(t) IR o STl &, ForgeT 9 (f) & ey
GRacH ST TR &1 t = 4 5 TR 0T bl TRl ool BRIT

F(t)

-

4 N-

O

(1) 83

(2) 123
(3) 243
(@) 163
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10.

11.

A light rope is wrapped around a pulley (disc) of mass 4 kg
and radius 20 cm which is free to rotate about it's axis on a
hinge. A block of mass 2 kg is tied with free end of the rope
and released as shown. If there is no slipping of rope then
match the column | and column II.

2kg| |
Column/| :i‘,olumn

a The velocity in (m/s) of the block att=2s @ 100

|| |will be e

- |[the angular velocity (rad/s) of the pulley PN

b. _ ; (ii) ||50

| |[att=2s, nearly is e

c Kl_netlc energy (J) of the block at, t=2s (i) 10

| |[will be L

(1) a(ii), bii), c(i)
(2) aiii), bi), c(i)
(3) a(ii), b(i), c(ii)
(4) a(i), bii), c(ii)

A particle of mass m is performing uniform circular motion.
Ifits radius is doubled and kinetic energy is reduced to one
fourth, its angular momentum will

(1) remain same
(2) become double
(3) become half

(4) become four times

The moment of inertia of a solid cylinder of mass M and
radius R about a line parallel to the axis of cylinder and
tangential to the surface of cylinder will be

3MR*
(1) 2

TMR?
(2) 2

2MR?
(3) =5+

5MR?
(4) MR

10.

11.

T B! W DY 4 kg S 3R 20 cm BT areft e foret
(et & TR 3R YT TRAT 8, AT U Hletdh UR 37U 3F&T b H1Uel
T @ & folQ T 21 2 kg SR BT U ICahT /= &b b R
R o7 5T & 3R 3R 2T TR Biel 1 81 Al et et 7
2, TG Bl | 3R Bie Il BT GAferd BT

2kg| |
[t [t
|lt=2 s TR e BT R (m/s) BRI Eloo

|t =2 s R R @1 HIofRT O (rad/s) T B B 50
[t=2 s RIcH Hr Tl St (J) aFft Elo

(e = ][® ]

(1) agii), biii), c(i)

(2) a(iii), b(ii), c(i)

(3) afii), b(i), c(iii)

(4) af(i), b(ii), c(iii)

SSHT m &1 U Ul THaH i Tl I a7 81 I S9! e
DT QAT foaT ST B T2 RIS o1t 1 U ateng fpa S &, ar
ST IV HFT

(1) T =M

(2) ST & ST
(3) ST &Y ST
(4) TR AT & TG

S M a1 AT R & Ueh 31 ST T ST o 378 P THIR d
ST Y TTE b FALRRITT RIT &b HIUE S S BT TS AT WY

3MR?
(1) 3L

TMR?
(2) MR

2MR*
(3) 2ME-

5MR?
(4) SME
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12.

13.

14.

— A A
A force F =(2i+35+4k)N

(2% +23+2I}) m . The magnitude of its torque about origin
will be

(1) 4v/6 Nm
(2) 2/6 N m
(3) 64/2Nm

(4) 3v/2Nm

A particle is acted upon by a force of constant magnitude
which is always perpendicular to velocity of particle. Some
statements are given below based on above information.
(a) Velocity of particle is constant.

(b) Kinetic energy of particle is constant

(c) The acceleration of particle is variable

(d) Angular momentum of the particle about the centre is
constant.

The correct statement(s) is/are

(1) (b) and (c) only
(2) (b) and (d) only
(3) (b), (c) and (d) only
(4) (@), (b) and (c) only

is acting at point

A 50 kg girl uses ladder to climb 30 m above ground in 2
minutes. The average power consumed by the girl is [g =
10 ms_z]
(1) 120 W
(2) 100 W
(3)80W

(4) 125 W

12.

13.

14.

T F = (27435 +4k) N fdg (28 +2j+2k) m W PR 2|
el feig o HIUeET 38D I -STel BT TRHATOT ERTY

(1) 4¢/6 Nm

(2) 24/6 N m

(3) 6v/2Nm

(4) 3¢/2Nm

TS BT IR T YRATON 7 97 BRIV &, ST Ted BT &b T P Asad
BT 81 IRIh T P YR R 419 $8 H2U Y 1Y B

(a) HO1 BT T e B

(b) T T TR St T &

(C) VT BT ROT YR &

(d) g & U PHUT BT HIVRT T I B

el T ofe

(1) ae (b) 3R (c)
(2) I (b) 3R (d)
(3) S (b), (c) 3R (d)
(4) A (), (b) 3R (0)

50 kg @1 U oS Wit BT ST v 2 e H eRIda 30 m
SR Tl 8| ] gRT AR 3id RF & [g = 10 ms™2]

(1) 120 W
(2) 100 W
(3) 80 W

(4) 125 W
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15.

16.

17.

A person of mass 60 kg is standing on a platform attached
to rope and pulley as shown. If mass of platform is 40 kg
and the system is at rest, then normal reaction on the feet
of person will be

60 kg

40 kg

(1) 20g

(2) 15g

(3) 10g

(4) 59

Given below are two statements:

Statement-l: A person standing freely in a bus
experiences backward push when bus start suddenly.
Statement-ll: An inertial frame must always remain at rest.

In the light of the above statements, choose the most
appropriate answer from the options given below.

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

A block of mass 2 kg is placed on a rough horizontal
surface where coefficient of kinetic friction is 0.25 and
coefficient of static friction is 0.3. If an external force, F=5
N is applied on the block then frictional force acting on the
block will be

2kg —>F
(1)4N
(2)5N
(3)6N
(4) zZero

15.

16.

17.

60 kg S &1 U& fh ST IR 6 iR R & IS 1
IThH R Tl Bl IS IehiH &1 S9H 40 kg & 3R Ham
foRmTaRRn 1 8,  @fts & ORI W arfiyeld v erft

60 kg

40 kg
(1) 20g
(2) 15¢
(3) 10g
(4) 59
Hrr 2 o Ry v &
PUF-I: 9 8§ TdF BU Y WS Afh Pl 9 & @D el TR
T R U Bl 3R earh o 3T 8il 8

BU-Il: TP TS o7 g faRTIaeer 5 &1 a1y |
SWRIE HUH! & SMEIR R 9 Ry 10 fehedl 5 § Ja9 IugH SR
BT T HISTI

(1) P | 3R BT 1| A1 Tl &
(2) T | 3R BT 1| 1 Tere &
(3) YT | & & oIfehT oM Il TeTd &
(4) D | TTeTdl & 2Tfcht b || TEl &

2 kg SHM & T b B et Gk &R Hofg W 3@ T B
STET TSt EoT OTieh 0.25 i T BT Onies 0.3 B AR Teh
R PIS I I, F = 5 N ARIUT fdvam ST &, a [eb R drid
oS0 g B

2kg > F
(1)4N
(2)5N
(38)6N
@) T
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18.

19.

20.

21.

When two blocks kept at rest initially start-moving towards
each other due to their mutual interaction, their

(1) Velocities are equal and opposite
(2) Acceleration is equal and opposite
(3) Their kinetic energies are equal

(4) Their linear momentum is equal and opposite

Change in kinetic energy of a body is equal to

Work done by conservative forces acting on the body
only

@)

Work done by non-conservative forces acting on the

) body only

(3) Work done by external forces acting on the body only

(4) Work done by all the forces acting on the body

Given below are two statements labelled as Assertion (A)
and Reason (R)

Assertion (A): If a body is in equilibrium while suspended
vertically with the help of a string then tension in the string
balances the weight of the body.

Reason (R): Static friction force is a self adjusting force.
Select the most appropriate answer from the options given
below.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

(€)
Both (A) and (R) are true but (R) is not the correct
(2) -

explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false and (R) is also false.

A body of mass m moving with velocity v suddenly breaks
into two pieces. One part having mass - remains

stationary. The velocity of the other part will be
1v
(2) 2v
3v
Q)<

@) %

18.

19.

20.

21.

9 URe | foRmTERT § W@ M & [k Mt sy fohar &
HIRUT Th GIR b 3R Tl AT TR PR &, T

(1) 9% 1 T 3iR o &
(2) 3% RO SRR 3R o &

(3) T TS Horf§ T &

(4) FTb T e T SR faoieT €

el fifg o Rerer ot F R are B &

(1) haeT fiie R iR wveft Fefl g1 g 9 B &
(2) Fae fie R BRIRA areReft el aRT g T B &
(3) at s R HRIRA arer Tt G o6 ¢ RS
(4) T W epreie weft et T fobg 7q bl b

e a1 e foU MY B fOIE B (A) 3R BRUT (R) & wu A Rifed
T Bl

DU (A): I P e foedt SR & TEraT & SHeafer U &
TP IR TSR H 81T 8, 79 SR 3 719 fie & IR &1 "gfeld
FRAT &

PR (R): ¥ oo et Toh ¥9-TFor-1T 9 &1

el g 0 el 5 & Hed Sugth ST Bl T DIfag:

(1) (A) iR (R) T & € 3R (R), (A) o7 T2 Foedtenur 21

(2) (A) 3R (R) 31 T& & @I (R), (A) T Hel Taianur T2l 81
(3) (A) |E & &Ifd (R) TTeta 81

(4) (A) Tad 8 3R (R) ot Teq B

R v J R S m aTetT U fie sraras &t 9N 3 g S 21
eI 2 gTel U T R Rl &1 < GER T b T &Y

Qv
2) 2v
@) Z

(4) &
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22.

23.

24.

25.

The system shown below is in equilibrium. The correct
option regarding T and T2 is [T1 & T are tensions in the

strings]

_ 217 j'LB'D .

|'
L

(1) T1>To

2) To>T1

) T1=T2

4)T1=0

A cyclist riding the bicycle at a speed of 108 kmph takes a
turn around a circular road of radius 150 m without
skidding. The angle with the horizontal plane of circular
motion at which cyclist will bend is (Take g =10 m/sz)

(1) 45°
(2) 90° —tan™! (%)
(3) 90° +tan™! (%)

(4) 90° +tan ! (2)

A monkey is descending from the branch of a tree with a

constant acceleration. If the breaking strength of the
branch is 75% of the weight of the monkey, then minimum
acceleration with which the monkey can slide down
without breaking the branch is

Mg
)%
(3) <

4)

w e

— FA = .. R
If A =2¢+35—k and B =i+ j+ak are perpendicular
vectors, then the value of a will be

1) 3
@) 2
()5
47

22.

23.

24.

25.

o gorfen 1w araTewen J 81 Tq 3R To & F9y A @@

e 8 [T 3R To SIRAT H a9 8]
4 (Ty) (Ty) I
G 60°
I'
m ]
(1) T1>T2
2) To>T1
3 T1=T2
4) T1=0

108 kmph & 91T ¥ 1gfdhet delT X&T U A1gfdet dretd 150 m
T arelt U@ gaeR Tedh R AT el tE g ordl B
TSfihel dreTe gt TR & &Rt et & |rer fobs 1vr R qem? (g

=10 m/s? & Q)

(1) 450

(2) 90° —tan~! (%)
(3) 90° + tan 1(%)
(4) 90° +tan" ()

Ueh §E% U e & AT ¥ i ot § Fr IR a1 71 A arar
o HHLY §eR P IR Bl 75% 8, T IR by aH @R {
AET & g forT Fr foheret Fever 572

Mg

@ %

afe Z=2%+3371} qer §=%+§'+a1} S9ad afeer &, a
o T A BT

13

)2

5

47
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26.

217.

28.

29.

A body of mass mis projected with velocity u, at an angle 6
from horizontal with the ground. When itis at the maximum
height, then instantaneous power delivered by
gravitational force will be

(1) zero

mgu cot 0

(2) "2

mgu tan 0

(3) "3

mgu

4 55

A particle attached to a string of length R undergoes
vertical circular motion. If u is the velocity imparted in the
horizontal direction at lowest point A, then the condition for
the particle to leave the circle is

LAY

A
(1)0<u<+ 2gR
(2)* 2gR<u <. 59R
(3)u>+ bgR
@) u>+ TgR

The coefficient of restitution e for a perfectly inelastic
collision is

M1
(20
()05
“4)-1

Consider a car and a bus of mass M1 and M2 respectively.

If they are moving with same velocity, then the ratio of their
stopping distance under the influence of same retarding
force will be

W) 37

@1
M

®) 57

M,
@ 5

26.

217.

28.

29.

ST m & Ua U &l eR1de 3 &fST 3 BIoT 6 W 9 v 3 mafig
T ST 21 919 I8 Sifdimad a8 WR BT 7, 9 [camyul dal
SRTUSH &6 7 dreerore ok Brft

(1) x%a

mgu cot 6

(2) "5

mgu tan 6

@) =%
@ 33
R SaTS &I T SR | GAISIT Uab T SHeater gl iy & o

813 u e fig A wR ARt e o fam a3 &, &t ot & felg
T 9 IS s H T B

A

(1)0o<u<+ 2gR
(2)* 2gR <u <+ 5gR
(B)u>* 5gR
(4)u>+ TgR
QUTCT: ST TIFHR o ol Y FATRET 0TI e &
11
()0
(3)05
@) -1
S M 3R My aTeft T HR 3iR T 9 | faR Hifdv | afe g
T T F TRMM €, AN T HS 9ol S THE H IThT AeRieT
T ST 81T
)
@)1

M7
®) 57

M,
@ 5

10
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30.

31.

32.

33.

Choose the correct relation among the following for

QO
=}
o
Ql

(4) Both (1) and (2)

%
a and b are the magnitudes of a and b respectively. If

— —
? - b =0, then magnitude of ? x bis
(1) Vab

ab
2 %
(3) ab
(4) zero

A bomb, at rest explodes itself. The centre of mass of the
system (assume no gravity)

(1) Describes a parabola
(2) Moves vertically upward
(3) Moves horizontally

(4) Remains at rest

If a man standing on the periphery of a stationary disc (free
to rotate about its centre) starts walking in the
anticlockwise direction along the boundary, then

(1) The disc remains stationary
(2) The disc rotates in the clockwise direction
(3) The disc rotates in the anticlockwise direction

The disc rotates in either anticlockwise direction or
remain at rest

4)

30.

31.

32.

33.

TRy 4. B R C ¥ e 3 9 ad @iy o7 %=
HIITI

@ A.4-2

(4) (1) 3R (2) 3

adiRbwAN: daen b HUREMEI AR G b —0 & @
@ x b eroRamE

1) Vab

@ %

3) ab

@) Lo

foRmTaRer H T Ue o ¥ g femifed & e 81 e &t
TR % (AT TS, Tocarepsvr 78 2)

(1) b TRaeTd I 1Tl &

(2) SEalER SR Bl AR AT vt &
(3) &HfersT w9 9 T e &

(4) ToRMTae R TET &

IS U R Tacl (3HP I P A& PO I & foly Taed ) &l
aRfe R G U <afh U1 & Jrgfeer arrac feem H et aRy
FHATE, TG

(1) Tl FRRR I&h &

(2) Tt Efdyoma faem 7 gufF et

(3) eI AT fem H ol et &

(4) Tt 1 1 ARt e H guie et & a1 foRmHTERel W a2

11
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34.

35.

36.

37.

The angular momentum [in kg m?2 s_l] of a particle of mass
5 kg, moving with a speed of 20 m/s in a straight line (as
shown in figure), about the origin is

l,'fm}h

20 m/fs

Ry —

60"

0 > x(m)

(1) 1002

(2) Zero

(3) 300
300

4) "5

To maintain a rotor at a uniform angular speed of 50 rad/s,
an engine needs to transmit a torque of 180 N m. The
power of engine is

(1) 36 kW
(2) 18 kW
(3) 9 kW
(4) 3 kW

An external force of P = 10 N is acting on a block A as
shown in the given figure where blocks A and B have
masses of 2 kg and 3 kg respectively. Find the force
exerted by B on A.

3 kg
p=10N =9 .
— A
B
Smooth
(1) 2N
(2) 10N
(3) 6N
4)7N

The instantaneous angular position of a point on a rotating

disc is given by the equation 6(f) = 363 — 4. The torque on
the wheel becomes zero at

Mt=2s
@t=2%s
(B)t=4s

@) t=3s

34.

35.

36.

37.

o o 2oy 3FgER WRaT Y@ # 20 m/s & a1t ¥ TRHH 5 kg
GO % U ol bl Tt g o AIier Iofter T [kg m2 s~ ] &
l,.-fm}h

20 mis

3 oA A

L 80 Sl

(1) 100/2
(NS
(3) 300

@ 2%

e guiep (JIeR) T THHH PV del Bl 50 rad/s T & &
foTT U 9791 §RT 180 N m Fe1-31Telu] U aoemt Y ermaeardt Bt
HESEEaKISTES

(1) 36 kW
(2) 18 kw
(3) 9 kW
(4) 3kW
fbeft e A W Rt 5 21fY SFTER P = 10 N &1 U STl 9T PRRA
&, ST81 i A iR B &1 G091 HHALT: 2 kg 3R 3 kg B B GRT A

TR IR fbar T 97 31 HIfST
3 kg
p=10N =9 -
A
B i S
T aas
(1) 2N
(2) 10N
(38)6N
4)7N

Ue Ui % W Ua famg &I drceriire ol ([Rfy a1 wiensor
6(t) = 313 — 412 GRI I AT STT &1 AR W Ie-ATED 9 &
SISIE

(1) t=2s®
(@ t=2sw®
B)t=4sW

@) t=2s®

12
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38. Atorque T =6tacts on a body, where Tisin N mand tisin

39.

40.

41.

seconds. The total angular impulse acting on the body in
timeinterval t=0tot=2sis

(1) 22 kg m?/s
(2) 2 kg m?/s
(3) 12 kg m?/s

(4) 10 kg m?/s

A flywheel is rotating about its main geometrical axis with
angular speed wq. The ratio of linear velocities of two

points on the wheel at a distance R and % from centre
respectively [R = radius of flywheel] is

(1)3:1
@1:3
(3)1:2
@1:1

In a vertical circular motion as shown in figure, if particle of
mass m is imparted a speed * 6gl at the lowest point, then
tension in the string of length / at the topmost point will be

(1) mg
@ 75

@) 2mg

(4) 2mg

A body of mass 4 kg moving with velocity 12 m/s collide
with another body of mass 6 kg. If two bodies stick together
after collision, then the loss of kinetic energy of the system
is

(1) Zero
(2) 2883
(3) 172.8J
(4) 1443

38.

39.

40.

41.

% fUg W U et 3MMeel 1 = 6t BRI &, 9T&i 1, N-m & & qoI ¢
Jhe H ¢ THI SRIA t= 0 W t = 2 s H U8 R HRRA FaA
CANIDECICUES

(1) 22 kg-m?/s

(2) 2 kg-m?/s

(3) 12 kg-m2/s

(4) 10 kg-m?/s

T U MU G ST 3181 &b A& PO A1e g | O
PR BT 81 bGP R AR I &l gt iR ufey w e figatt o it
3 T 31U & [R = S9ish 1 3]

13:1

21:3

@)1:2

@1:1

o o 2a1fy SR Seafer g AR F, AR m S & H0 B
e fdg IR =T« Ggl UM 1 STl &, 9 efiere fig R &iar |
Ireft SRt A 1

e, ;
s -,

(1) mg

@) %

(3) 3myg

(4) 2mg

12 m/s T ¥ RIS 4 kg S BT U UUS 6 kg TFHH & 3

five I TR &1 IR TFPR & 918 SFI UUS TR 4w ST
&, 79 e Y it St Y BIf B

(1) LT3
(2) 2883
(3) 172.8J
(4) 144 )

13
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42. In which of the following figures, the work done by force

42. fp H 9 5 o |, TRt o 1 d S0 b faReenTfoe = o aa

_)
- . . . . R N N N
F in displacing an object through a distance d is positive? 7 o R T T e 2 ( Faer d % TET T 6 %)

— —
(6 isthe angle between F and d)

AF T
@) @)
n 3 L] —
d d
Object aq]

@)

@)
Al A0

d. (3) \t 2]
Cbject dh
e o a¥d
(4) : d 4
Object @) F< + =
a¥d
43. Which of the following can be negative? 43. e d ¥ ot 9Tl B[S 8 Gad 87

(a) Potential energy

(b) Mechanical energy (a) FEAfRT St
(c) Kinetic energy (b) TBH It
(1) a,c (c) TS St
2) b,c
1) a,c
3 ab
2) b, c
(4) a,b,c
(3 anb
(4) a,b,c
44. Which of the given forces is a pseudo-force? 44. U gl § P B doT &7
1)N | fi
Q) c.>rr-na orce ) reig a1
(2) Friction force
(3) Gravitational force (2) &for gt
(4) Centrifugal force 3) g?ﬁﬁaaa
(4) TIPS IeT

14
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45,

46.

A spring of force constant k is cut into lengths of ratio 1 : 2 :
3. They are connected in parallel and the net force
constantis k', then k' will be equal to

ORS
(2) 11k
@) 7k
(4) 9k

45. 9o i k dreft T FERT T 1 : 2 @ 3 & IgUId &Y afa1s A dIer
AT 81 3 IR 9 & AT & 31k 57T A 91 e k' 8, a9
K’ T T SRTSR 8N

) k
(2) 11k
() 7k
(4) 9k

CHEMISTRY | SR fasi

Consider the following reaction,

+ Br, — water —— Major product

(excess) (A)
Major product (A) is,

OH
'®
Br
OH
e
Br Br
OH
Br Br
(3)
Br
OH
@Br
4)

46. f=faifaa arfiferar R fER HIfST,
OH

+Br,— 9@ —> 99I9dE

(3TTerE) (A)
I AR (A) &,
OH
1)
Br

OH
ge
Br Br
OH
Br Br
®)
Br
OH
@fm
@)

15
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47.

48.

49.

Given below are two statements: One is labelled as
Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : (CH3)3C - CI undergoes hydrolysis

reaction by SN1 mechanism.
5%
Reason (R) : (CH;),C is very stable carbonium ion.
In the light of above statements, select the correct option.

Both Assertion & Reason are true and the reason is the
correct explanation of the assertion

)

Both Assertion & Reason are true but the reason is not
the correct explanation of the assertion

@)

(3) Assertion is true statement but Reason is false

(4) Both Assertion and Reason are false statements

Which of the following is not a chiral molecule?
(1) 2-Bromobutane

(2) 2-Hydroxybutanoic acid

(3) sec-Butyl alcohol

(4) isobutyl alcohol

Which among the following does not undergo Hell-
Volhard-Zelinsky reaction?

COOH

’ @

a1l

©) |

“4)

47. o Fud R 70 & P B B (A) & w9 A Sifed fhar mar ®
3R SR P HRUT (R) & HU H et fobarr w81
HYF (A): (CH3)3C — Cl &1 Sieraiuee ifyfspar Sy feanfafe
ERT BT &1

5%
BRI (R): (CH;),C A8 TR Sreiam 3 &
IR Bl &b e H, el ey o1 9o HIfSIy|

(1) P 3R BRUT S Tl & 3R BIRUT, BT bl T IRET &
(2) U AR HROT ST FEl & 3R BRI, HeF 6T TEl IR e &
(3) HUT TE B TIfehT BRUT TeAd &
(4) D 3R DR S TeTd HUF &

48.  frfoIfEd 5 9 PIF |1 1 et a7y 18 872
(1) 2-5meT
(2) 2-ETESIaiIg gD STt

o o ~

(3) TadlIdh-sg[CeT Yeblgled

o

(4) STSHGEeT Teplelet

49. A fAfed H § 9T T ea-dicars-sifeh! 31f¥fehar Tl garfar
27

COOH

@

CH,COOH
(2)

¥

COOH
®)

H

CH,
COOH
4)

&

16
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50. Which of the following organic compound(s) undergo(es)

disproportionation reaction with conc. NaOH?
(A) Propionaldehyde

(B) Formaldehyde

(C) Butanone

(D) Benzaldehyde

(1) (A) only

(2) (B) and (D) only

(3) (A), (B) and (C) only
(4) (A), (C) and (D) only

51.

KMnO,-KOH H,0"
: >P >0

Heat

On

Product Qin the above reaction is

OH
)

HO

@

ONO

COOH

©)

O

COOH

)

©r

52. The correct order of dipole moment of C-X bond in given

speciesis

(1) CH3F > CH3CIl > CH3Br > CH3l
(2) CH3Cl > CH3F > CH3Br > CH3l
(3) CH3l > CH3Br > CH3Cl > CH3F
(4) CH3F > CH3l > CH3Br> CH3Cl

50.

51.

52.

71 5 & B B Afie g NaOH & H1ef STEHTUH

gofar &2

(A) MeTHfcsess
(B) BiHfcSeIzs
(C) et
(DERSIECHES

(1) P (A)

(2) act (B) 71T (D)

(3) I (A), (B) T (C)
(4) P (A), (C), T (D)

KMnO_KOH _ H,0"
S

IR Afifehar o I Q &
OH

CHO

>Q

)

O

COOH

©)

O

COOH

4

©r

& 1S witefisT § C-X a1rey & fagga amert &1 wE o B
(1) CH3F > CH3Cl > CH3Br > CH3l
(2) CH3Cl > CH3F > CH3Br > CH3l
(3) CH3l>CH3Br>CH3Cl> CH3F

(4) CH3F > CHgl > CH3Br> CH3Cl

17
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53.

54.

55.

56.

Which among the following is a meso compound?

COOH
IR
COOH
CH,
H —1—Br
@) Br—t—H
CE‘HS
CHO
H—— OH
®) H—+—OH
CH,OH
CH,
H —1—Br
@ Br—t—H
CH,

1, 1, 1-Trichloroethane on reaction with aqueous KOH
followed by treatment with H30+, gives

(1) Acetaldehyde

(2) Acetic acid

(3) Acetone

(4) Ethyl alcohol

Which of the following haloalkanes has slowest rate of
SN2 reaction?

(1) 2-chloro-3-methylpentane
(2) 2-chloro-2-methylbutane
(3) 2-chloropentane

(4) 1-chloropentane

Chloroform on reaction with O in presence of light gives
(1) CO2

(2) COCl2

(3) co

(4) CCl3 - CHO

53.

54.

55.

56.

fFrefafed o 3 olar a1 3ifie 82

COOH
IR -
COOH
CH,
H —t—Br
@) Br—t—H
CE‘HS
CHO
H—— OH
®) H——OH
CH,OH
CH,
H —f—Br
@ Br—f—H
CH,

1, 1, 1-CTSFARIVEN STelld KOH o Hrer arftrfehan a a1g § Ha0™
& |1 AR W <M &

(1) THIfeETgS
(2) vfefee arFer
(3) THIS

(4) VIS Tepraret

frferfad 5 | fo alied A Sp2 SIffhar o R Faw it
8?2

(1) 2-FRI-3-A et
(2) 2-FARI-2-H TG
(3) 2-FARCH
(4) 1-FARMGCT

Tep1eT B ST F FARIBIH T 0o & wer ARIHAT TR UTH &
g

(1) CO2

(2) COCl2

(3) CO

(4) CCl3 - CHO

18
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57.

58.

The structure of the compounds having the common name
Ethylidene chloride and Ethylene dichloride respectively
are

CH,—CH, and CHs—CHCl>
@ | I
ci Cl

CH2>=CH-CI and (|3|-|2_(|3|-|2
Cl ClI

@)

©)

CH3—CHCI2 and CI:HE-?HE

(4) CH2=CHCl and CH3CHCl3
In the following reaction,
CHz— CH — CH, + CH,MgBr —— s
_— S +
(8]
, the major product P is
CH,

) |
CH,— CH — CH,— OH
OH
@ |
CHy —CH — CH,— CH,

CH,
I

@) CH;—C —OH
I

CH,

T
(@ CHy—G —CH,—CH,

OH

57.

58.

TETY 719 Ul deiNTgs 31N tfeefiq SgdciNgs del difial

Y TR I &

CHE_CI:HE sit. CH3—CHCI:2

o |

Cl Cli
CH2=CH-CI - CH,~CH,
@
Cl Ci
CH3—~CHClI, = CH,~CH,
@)
Cl Cli
(4) CH2=CHCI 3fR CH3CHClp
fopt arfbrfeman & g Iame &
(i) $er

CH;— CH — CH, + CH, MgBr ——> P

\ / (i) Hy0"
]
CH,
&) |
CH,— CH — CH,— OH
OH
@ |
CH; —CH — CHy,— CH,

&
@) CH;—C —0OH
I

CH;

T
@ CHy—C —CH—CH,

OH

19
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59.

60.

61.

62.

Consider the given reaction

Zn0O—Cr203
CO+2H,

200—300 atm
573—-673 K

Incorrect statement about X is

(1) Itis known as wood spirit

(2) Itis highly poisonous in nature

(3) Its 40% solution is known as formalin

(4) Itevolves Ha gas on reaction with sodium

Consider the following two statements.

Statement I: o0 and p-nitrophenols can be separated by
steam distillation.

Statement I o-nitrophenol
hydrogen bonding while
intermolecular hydrogen bonding.
In the light of above statements, choose the correct answer.

forms intramolecular
p-nitrophenol forms

(1) Statement I is correct but statement Il is incorrect
(2) Statement | is incorrect but statement Il is correct
(3) Both statement | and statement Il are correct

(4) Both statement | and statement Il are incorrect

Correct order of reactivity of NaHSO3 with the given
carbonyl compounds is

(1) PACHO > CH3CHO > CH3COCH3
(2) CH3CHO > CH3COCH3 > PhCHO
(3) PhCHO > CH3COCH3 > CH3CHO
(4) CH3CHO > PhCHO > CH3COCH3

Pair of compounds which can be distinguished by
haloform testis

(1) CH3CH20H and CH3CH2CH2OH
(2) CH3CHO and CH3CH2COCH3
(3) CH3COCH3 and CH3CH2COCH3
(4) CH30H and CH3CH2CHO

59.

60.

61.

62.

21 778 rfrfepar R R oY

Zn0O—Cr203
CO+2Hy— X
200—300 atm

573—673 K

X & IR ¥ eI B &
(1) e () FIRT S T § JH1 91 &

(2) TE rAfA fauTh TSy T BNl &
(3) DT 40% fIeTa wiFfer weatmr &
(4) T8 e & Aoy IR R Hy T Sar g

ey oy 10 ST M wR fR HifSig

PUF I: 0 3R p-AREIHHIA DT T NG GRT G o I
REGIR!

PR 0 -AREIHIHA I SIS EZSNT e ST & STafdh
P-ATEG e JIR-3MMUTIE BTZSIoT §& STl &

IURIh BT e |, et STR BT 9 DT

(1) P | FEl & IfehT B 11 e B
(2) DU | 1A & otfd He || et &
(3) BUT | TR DT | ST T8l &
(4) B | 3R B || S Terel &

13w 0 Freier it &% T1er NaHSOg 6 rfrferarefierar &1 wet
ELb

(1) PhCHO > CH3CHO > CH3COCH3
(2) CH3CHO > CH3COCH3g > PhCHO
(3) PhCHO > CH3COCH3 > CH3CHO
(4) CH3CHO > PhCHO > CH3COCH3

BAHT TRIETor GRT MR 81 Hepet et et &1 g &
(1) CH3CH»OH T CH3CHCH2OH

(2) CH3CHO T CH3CH,COCH3

(3) CH3COCH3 @1 CH3CHCOCH3

(4) CH30H =M CH3CH2CHO

20
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63. Which of the following will be most easily decarboxylate on
heating?

) OH

o
o0 o

&) OH

q

o
o

®3) OH

e

)

$

OH

64. Which among the given molecules can exhibit
tautomerism?

{1 () ()
(1) Monly
(2) Both lland 1l
(3) Both land Il
(4) Both land Il

65. Sodium benzoate on heating with soda lime gives

/,DH

@)

CH,OH
2)

© Q

®3)

©Q

63. fy # § foeen! T e W I AfGh A H fpraifadetiod a1
ST 82
O

64. fyfeifEd o & ST 319 JeTTaaaa a2t Hehll 82
8 O

Agr

Q o @]
() (n (1)
(1) I Hae

(2) SFT L=
(3) &I =TIl
(4) SFT 1R
65. Wiy SSiTve Pl AreT olTgd b T T B IR UTH IS &

OH
)

@

_CH,0H
2

_CHO

©)

4

©) ) O

21
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66. The compound which undergoes Sn1 reaction with fastest

67.

rate is

Cl

)

Cl
@

Q@

CH,

® CH, - Cl

y

4

~

Consider the following reaction and identify major product

SHy=QH~gH =G5 Majorizgcduc’t
OH CH,
Br
@ C,Hs = (:-; - C,H;
CH,
CH;-CH-CH-C,H,
? Ellr Clr.H3
N C,H, — (i‘,H - CIZH - CH,
Br CH,
. CH, = CH, = CH — CH, — CH, — Br

CH,

67.

66. i e oo™ X & el S 1 1R Srfar 82

cl
(1) A
(~
o ﬁ\ﬂ‘c:
NS
CH,
© CH, - Cl

Cl
@)

e

Frfeifad afifrar R AR T iR 9w SR & gear
CAIEK
CH3—CIIH—(I3H—C2H5i> (P)

OH CH, Joi gdla

Br

a C,Hg — (;“- - C,H,

CH,
CH,— CH — CH - C.H,

Br CH,
C;Hs ~ CH — CH - CH,

Br CH,
CH, — CH, — CH — CH, — CH, — Br

CH,

@

©)

“4)

22
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68. The major product obtained when vapours of tertiary

69.

70.

alcohol is passed over heated copper at573 K is
(1) an aldehyde

(2) an ketone

(3) a carboxylic acid

(4) an alkene

Anisole on reaction with HI majorly gives

@)
+ CH,OH

G_

OH

2)
+ CH,|

W

OH

®)
+ C,Hl

(4)
+ C,H,OH

Wl Ws

Consider the following statements.

Statement (l) Haloarenes are less reactive than
haloalkanes towards nucleophilic substitution reaction.
Statement (ll) : In haloarenes, the electron pairs on
halogen atom are in conjugation with Tt-electrons of the
ring.

In the light of above statements, choose the correct option.

(1) Statement (1) is correct but Statement (Il) is incorrect
(2) Statement (1) is incorrect but Statement (ll) is correct
(3) Both Statement (I) and Statement (ll) are correct

(4) Both Statement (I) and Statement (Il) are incorrect

68.

69.

70.

I JIRID Geblarel & g Bl 573 K TR T PR & HUR Haifed
TR ST &, A UTH B a1eT 9% IS B

(1) UesETgS

(2) HreH

(3) PRIfRATeId 3Fe

(4) Y

it T HI 3 el 21fifha oR e Seure &
I

)
+ CH,OH
OH
)
+ CH,|
OH
®3)
+ C,H.|
|
4)

+ C,H.OH
frfafyd Hemi R AR ax|
FHUF (I): cANeDhd HI T H BANRE ATferear TR
arfyferar & ufcr &+ foranefiet a1 &)

HeF (Il): BT H, Tl WA W gerag g aotd & TI-
SoIFETT o e T H €Nl &

IRIh B! P T H, el fiepey g |

(1) P (I) el & Afh e (1) Teld &

(2) HU (1) T B eTfehT e (1) Tet 8

(3) HU (1) 3R F (Il) I Tl &

(4) U (1) 3R F (Il) IH T &

23
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71. Consider the following reaction,

72.

CH,
@’ + CrO, + (CH,C0),0 22282 K , (a)
H,0"/A
Benzaldehyde
Intermediate (A) is,
O
() ({;' _CH,
O
CH(OCOCH,),
CH,OCOCH,
X
OH
@ 0-C-CH,
O
Complete the reaction,
CH;-CH=CH-CHs—CH>-CN "‘”(fﬁf;;"' » product
(1) CH3—CH=CH-CH2 - CH» —CH2 — NH»
0
@CH;-~C=CH-CH,-CH,-C-NH,
|
OH

CH, = CH = C - CH, - CH, - CHO
OH

(4) CH3—CH=CH-CH2 - CH2 -CHO

©)

72.

71. fafafed rfifhar R R HifSiv,

CH,
©/ + Cr0, + (CH,C0),0 2228 K, (a)

H,0'/A
EEIREHES]
Fegaclf (A) &,
&) c - cH,
O
- CH(OCOCH,),
@||
e
- CH,0COCH,
@ || P
OH
N O-C-CH,
!
O
arfirferar &t gof HHfS,
CH3;-CH=CH-CH>-CH>-CN % 3Jde
(1) CH3 - CH =CH - CH2 — CH — CH2 — NH»
O
!
2 CH; = C =CH-CH, - CH, - C - NH,
|
OH
CH; - CH=C -CH, - CH, - CHO
|

3)
OH

(4) CH3 — CH = CH — CHp — CHp — CHO

24
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73. Consider the following sequence,

s

o S ) S
Major product (C) is
OH
CH, - CH,
CH-OH
‘”[::j/éH
3
CH, - CH,
I
OH
COCH,

(C)

73.

faN

el T 31gehd W R BIfSIT,

OH

LIAH, _

A CH,COCI
@ +Zn—— (A) e
3

(B)
I S (C) &
OH
(1)
CH, - CH,
CH - OH
|
(Z)E:TCH3
CH, - CH,
X
OH
_COCH,

(€)

25
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74. Consider the given sequence of reactions

CO, HCI » (A) HNO,/H,SO,
Anhyd. ﬂ.1CF3.|’CuCl 273-283 K

> (B)

7

Major product (B) is,

CHO
&

&

4

Vs

NO,

75. Consider the following statements:
(a) Methanal is a gas at room temperature
(b) Methanal and ethanal are miscible with water in all
proportions
(c) Acetone does not form hydrogen bond with water
The correct statement(s) is/are

(1) (a) only
(2) (b) only
(3) (a) and (c) only
(4) (a) and (b) only

74.  rfforanatt & U M SgmHH W AR HifSy

CO, HCI

R HNOJH,SO,
fsia AICL/CuCl

273-283 K

(A) > (B)

I WK (B) &,
CHO
@)

NO,
2

CHO
CHO
(3)
NO,
OH

(4)

NO,

75, fFefafyd deml R AR @
() A P AT R U I &Il &
(b) et 3R verter Tt Ul # STot 3 ey Ffsid & o €
(C) TR STl & 12T BISSIoT 9 T8l STl &
Fel B Bf8

(1) P9 (a)
(2) 3 (b)
(3) Pt (a) 3R (c)
(4) P () 3R (b)
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76. Consider the following reaction and identify major product

=

O

CH,COOCH,

NaBH, (excess)
>(A)

C,H.OH

C"3 -H

0]

OH

CH,CH,OH
(€9)
C-H
I
0

CH,CH,OH
2

CH,OH

CH,COOCH,
(3)

CH,OH

JoJecke

CH,CH,OH

r,H
O

)

19

76. fafafed e R AR HifST iR e 3are (A) & ugam

CH,COOCH, NaBH. (3T

C,H.OH

>(A)

Qo%

C-H
Il

CH,CH,OH
(€)
C-H
I
0

CH,CH,OH
2

aggedl

CH,OH

OH

CH,COOCH,
(3)

CH,OH

Je;

CH,CH,OH

r,H
O

4

10
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77. Match compounds in List-l with their name in list-Il and 77. gﬁ_|$mﬁﬁaﬁg§ﬁ_||ﬁmmﬁgqﬁaaﬁawgﬁwm

choose the correct answer
| J|List [ |[Listn = g
[ oH ] - eiall

COH

(i) ||Catechol
CIecar]

)
)
=

OH

o
T
o
I

b DH@ (ii) ||[Resorcinol [ OH ||
|| O (i || R
~on |
c (iii)||Cresol OH
OH c (iii) EARIC]
[ oH | OH
CH ] B
d @ vyl Quinol oH
CHj .
d (iv)||frTer
(1) a(iv), b(i), c(ii), d(iii) L | ||
(2) a(i), b(iv), c(ii), d(iii) (1) a(iv), b(i), c(ii), d(iii)
(3) a(iv), b(i), c(iii), d(ii) (2) a(i), b(iv), (i), d(iii)
(4) a(i), b(ii), c(iv), d(iii) (3) a(iv), b(i), c(iii), d(ii)

(@) a(i), bi), c(iv), d(iii)
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78. Consider the following sequence,

Heat

dil. NaOH
CH3 COCHs ——+* As —+ Be

Major product (B) is

OH O
& CH, — CH=CH—C - CH,
CH,
@)
2 CH,-C =CH -(I'}r-{'}H3
&,
g
@ CH,-C-CH,-C-CH,
eH,
O

@) I
CH,=CH-CH,-C-CH,

78.

faN

el T 31gepd W R BIfSIT,

RS2l

@ NaOH
CH3 COCHs ——+ Ae —+ Be

IR IATE (B) &
OH O
@ CH, - CH —CI:H —fg—f.?-H3
CH,
@]
2 CH,-C =CH -(I'ET-CHS
&,
o
3®CH,-C-CH,-C-CH,
eH,
O

4)
¥ GH, =CH <CH, - C - CH,
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79.

Which among the following is most acidic in nature?

OH

)

2V

CH,
OH

@)

W

OH

©)

@_

NO,
OH

)

O

NO,

79.

fFrfelfad 3 9 91 e Faffad smelia udhicr o 52

)

<« )2

CH,
OH

@

W

OH

©)

@.

NO,
OH

(4)

)

NO,
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80.

Identify the product (B) formed is the following reaction

N,CI"

Cu,Cl, _

(i) NaOH, 623 K, 300 atm

HCI

OH

W

)

7

Cl

&)

I

OH

©)

2 Y%

Cl
OH

)

&

Cl

> (A)

(i) H

(B)

N,CI"

Cu,Cl, -

80. ffafaa arfrferar & 7+ arel IS (B) @1 Ugaw

(i) NaOH, 623 K, 300 atm (

HCI
OH

)

W

Cl

@)

I

OH

©)

2 W

Cl
OH

(4)

&

Cl

(i) H
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81. Match List!with Listll and choose the correct option. 8l. It | & g Il & Wy GAfAd HISY qer wE fRAdvey o1 794
List|1 Listll Ffor
OH
bl il
a. Fittig reaction i {i) CHCI, + ag NaOH = OH
(i) H' -
X a. fonfe arfirfpar . (i) CHCI, + ag NaOH
Reimer-Tiemann .. Dry ether T -
b reaction i 2@+ 2Na ———> (i) H
Zn—-H S x
1 n—ng NERES N e, T
Williamson b. _ o,
© synthesis - > o HClI > SIRYfRRaT i. 2 +2Na ——>

d Clemmensen iV R
" reduction * R=X+R-0O"Na" - fafererre Zn - Hg

c. . i, =0 ——3
(1) a(i), bii), c(iii), d(iv) AT Hel
(2) a(iv), b(ii), c(ii), d(i) . FeAA= _ .,
(3) a(ii), b(i), c(iv), d(iii) " TR V- R-X+R-0O"Na® -
(4) ai). b(i). c(). d(v) (2) a(i), b(ii), c(iii), d(iv)

(2) a(iv), biii), c(i), d(i)
(3) a(ii), b(i), c(iv), d(iii)
(4) a(iii), bii), c(i), d(iv)

82. Consider the following reactions 82. ffaifeaa aifirfharel ) faR HIfST
2:32:2 - sr : ﬁﬁ:}'}oz N E(;AZFJ'KABgBr CH3CHy — Br + AgNOp — (A) + AgBr
3+n2 ==t 2 — (B) + KBr CH3CHs — Br + KNOp — (B) + KBr
Major products (A) and (B) respectively are .
g IS (A) 3R (B) A &
(1) CH3CH2NOy and CH3CH20ONO
(3) CH3CH20ONO and CH3CH20ONO (2) CH3CH2NO2 3R CH3CH2NO2
(4) CH3CH20ONO and CH3CH2NO2 (3) CH3CH2ONO 3R CH3CH2ONO

(4) CH3CH2ONO 3R CH3CHoNOo

83. Match List-I with List-II 83. i1 G-Il a;wg;gq@ﬁa%ﬁq

List-I List-ll
Compound Boiling point (K) - N
(a) Methoxyethane (i) 322 it FRMAID (K)
(b) Propan-1-ol (i) 370 Ko .
(c) Propanone (iii) 281 (a)ﬁ i (1) 322
(d) Propanal (iv) 329 (b) ITUH-1-31Te (i) 370
The correct match is © ) (i) 281
(1) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

i} NN ()W (iv) 329
(2) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

& et &

(3) @)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
(4) (@)-(iv), (b)-(ii), (c)-(iii), (d)-(i) (1) @)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
(2) @)-(i), (b)-(i), (c)-(iv), (d)-(iii)
(3) @)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
(4) (@)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
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84. When ethyl bromide is treated with sodium in presence of 84. g o $oR I SUfRART ¥t a9ss Bl Aifeay & 9
dry ether ityield
 eheriiyields TR b ST &, 1 e IUTE 8
(1) But-2-ene
(2) Ethane (1) Fe-2-5T
(3) Ethene ) Oul
(4) Butane
(3) vef=
(4) e
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85.

Identify major product (A) in the following reaction,

B

@]

@)

Zn-Hg (excess)

Vel

J

O

@)

)
)

©)

i
%

4

conc. HCI

OH
CH,

)

>(A)

@)

@)

©)

4

{
HOHQON

s

K

@]

O

A

:
20

85. ﬁﬂﬁ@ﬂ&ﬁﬁ@ﬁﬁt&wm (A) B UgaT,

Zn-Hg (nfie)

biz HCI

OH

Wal

.
.

CH,

>(A)
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86. Consider the following reaction sequence,

NaOH _ .. (i) CO,_

(A)

(i) H

§ )-e

Major product (B) is

COOH

@)

7

OH
@)

COOH

COOH
©)

G O

OCH,

4

W

(B)

86. fymferfeaa srffohar 3 W fomR HIfSI,

OH

NaOH _ .. (i) CO,_

A
( }[ii}H'

(B)

I SIS (B) &
COOH

)

OH

@

O

COOH
OH

COOH
©)

@

OCH,

4)

W
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87.

88.

Major product (A) formed in given reaction is
X (i) B,Hy/THF . (A)
(ii) HEGZ.I'IDH_

OH

3

@)

@)

3.

OH
®3)

5

OH
@)

3

Which among the following ethers is most difficult to
prepare by Williamson’s synthesis?

O - CH,
O@
(3)CH3F—D—CH2—</;\>

(4) Co2H5 -0 - CHp — CH2 — CH3

)

@)

P

87. s arfrforan = 97 aret IeT SIS (A) ©

m Lk AL
(ii) H,O,/OH

OH

)

@

3.

OH
©)

>

OH
@)

5

88. ffmeT Georwur gy FEAfaf@d o I fhg $eR &1 o der
TR P 872

O - CH,
O@
(3)CH3F—D—CH2©

(4) Co2H5 -0 - CH2 — CH2 — CH3

@)

@

P
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89. Major product of the given reaction is

KMnO,4 - HpS04 _
A =

H
(€9)

-~ \COOH
~._~COOH

OH
H

90. Consider the following reactions,

CH3CH,CH,CHO

®3)

Ammaoniacal
AgNG3

Product (A)

Product (A) is

(1) CH3CH2CH0H

(2) CH3CH2CH2COOH
(8) CH3CH2CH2CH20H
(4) CH3CH2COOH

89. &g arfrforan o1 Yew Se B

O KMnO4 - Ha804 _
A i

H

@)

~\COOH
~.~COOH

OH
H

90. frAfafeEd srfifearett w o ST,

©)

CH,CH,CH,CHO s@c (A)

AgNO4
IAE (A) B

(1) CH3CH2CH2OH

(2) CH3CH2CH2COOH

(3) CH3CH2CH2CH20H

(4) CH3CH2COOH

BOTANY | & fasm

91. Which of the following contributes to an increase in

population density?

(1) Birth rate and emigration
(2) Death rate and immigration
(3) Birth rate and immigration

(4) Death rate and emigration

91. fyfeifaaH 3 fraer FAfY o i gfg o IR B 5?2
(1) S R 3R IR
(2) T R 3IR yrar
(3) I &R 31K AR

(4) TG R 3R IIIRT
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92.

93.

94.

95.

Find the incorrect match.

) Streptokinase — Used for patients who have undergone
myocardial infarction

(2) Sedimentation — Removal of grit from sewage water

(3) Dragonflies — Are useful to get rid of mosquitoes

Lactobacillus — Used for commercial production of
vinegar

4

Technology for biogas production was developed due to
the efforts of

(1) Indian Council of Agricultural Research
(2) Indian Agriculture Research Institute only
(3) Ministry of Environment and Forests

Indian Agriculture Reasearch Institute and Khadi and
Village Industries Commission

)

Tertiary waste water treatment is a
(1) Physical process only

(2) Chemical process only

(3) Physico-chemical process

(4) Biological process

The main source of biofertilizers are
(a) Bacteria

(b) Cyanobacteria

(c) Fungi

(d) Adenovirus

Select the correct ones.

(1) a,candd

(2)a,bandc

(3)a,bandd

(4) b,candd

92.

93.

94.

95.

Ted ™ 3 dhifsiv|

TRIHRS - 9 AN & forg Iugm fhar sar g S
(1)Wm%ua§wsh@rwgﬁ3%‘

(2) ST — ATfedel ¥ RITaIgH1ed $I 8T &

(3) SRS — FoBR) & PEdRI U & forq Suaift &

siFcldfFerd - faNaT & ARG ST & iy SuaRT fhan
ST &

foreTch TITRAT & PR AR IeUTH 1 depeiieh faepfRia Bl T$?
(1) TR PfY Srgere aRee

(2) PaeT TR P ST FE

(3) TR 3R & HATT

(4) TR Y ST TRl SR W v AHET ST
1D SURIE SeT ITR

(1) Paet vep ifciep ufchar &

(2) HaeT Vb IR Tfeha &

(3) U silfci-wr R wfohar &

(4) Ta Sifde Hfspam &

(a) Sftam]

(b) TR

(c) dad

(d) vfSTarReT
LRGN

(1) a,c3iRd

4

(2) a,b3Rc
(3) a, b 3iRd
(4) b,c3iRd
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96.

97.

98.

99.

The biocontrol agents, baculoviruses are
(1) Living organisms that attack plant arthropods

Pathogens that have negative impacts on plants, birds
or even on non-target insects

@)

Viruses of the genus Nucleopolyhedrovirus, which are
effective against all pathogens in plants.

©)

Excellent candidates for species-specific,
spectrum insecticidal applications

narrow

4

Sea anemone attached to the body of hermit crab is an
example of

(1) Commensalism
(2) Protocooperation
(3) Amensalism

(4) Parasitism

Select the incorrectly matched pair w.r.t. parasitism

(1) Cuscuta — Is commonly found growing on hedge plants
(2) Liver fluke — Found inside human body

(3) Female mosquito — Derives blood from humans

(4) Ticks — Feed on the external surface of dogs

Read the following Assertion (A) and Reason (R)
statements and mark the correct answer from the options
given below

Assertion (A): Competition is a detrimental population
interaction in which the superior species may dominate
and eliminate the inferior species.

Reason (R): Experimental removal of the superior
competitor leads to increase in the population of the
inferior species in a given area.

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

@)

Both (A) and (R) are true and (R) is the correct
explanation of (A)

@)

(3) Both (A) and (R) are false
(4) (A) is true but (R) is false

96.

97.

98.

99.

(1) ST Sftar & S dief o aTIfulg™ TR 3TTshHUT vl &

AoTh & fSepr diel, aferal ar gt a fb ercrféra el
BIFPRS T9Td TS &

Tt legiaRE ae P qRIeH €, S utel § | IReTen!
©) % sy &

yonifer-fafare, Tepx Waed Hearefia SRt & Ay arfr sT9
wtrﬁ*m%‘

Bfc Bas b IR H ST TS T foheehT SaTeru 82
(1) FEwITSHa

(2) ST

(O EEISISIRESSIIES

ORSIE

ORI b e § Tetel et dlet ™ o1 T BHifiu|

@

(1) P¥PET- FHT-I: TS UISH R gfg HT &
(2) THA UM — HTTd RR & 3SR IR AT &
(3) HIGT H2ER — AT H h UTH Bl &

(4) e - i bl STE eTE TR HISH PRl &

AT B2 (A) T2 BRUT (R) B ufey iR o Ry ¢ e
7§ 8 SR B fafga Hifsrg

P (A): Wl UF efFaHRS A uReuRe fbar & o Saq
TRt TTdt 8 Teheh! § iR e USTTforit ot T R Hact B
PR (R): ST9 Weff T ufies o § g™ F fpedt Ry v & o
o1 gomTferat ot FfE 7 gfig archt 21

(1) (A) 3R (R) 31 T & oIfdh (R), (A) BT Tl TN 78 &
() (A) 3R (R) AT T € 3R (R), (A) BT T8 Taeficor &

(3) (A) 3R (R) 31 3 &
(4) (A) T 8 IfhT (R) 319 B
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100. Which of the following is odd w..t. roles played by
predators in an ecosystem?

They acts as ‘conduits’ for transfer of energy across
trophic levels

@)

(2) They keep prey populations under control

They render the host more vulnerable to predation by
making it physically weak

®3)

They help in maintaining species diversity in a
community

4)

101. Toddy is fermented sap of
(1) Yeast
(2) Date palm
(3) Coconut

(4) Caryota urens

102. Selectthe incorrect statement w.r.t. ‘BOD’

During biological treatment, microbes consume the
(1) major part of organic matter, thereby increasing the
BOD

Itis the amount of oxygen that would be consumed if all
(2) the organic matter in one litre of water were oxidised by
bacteria

It is indirectly a measure of organic matter present in
the wastewater

©)

The greater the BOD of waste water, more is its
polluting potential

4)

103. Which of the following statements regarding Ganga and
Yamuna Action Plan is/are true?
(@) These plans were initiated by the Ministry of
Environment and forests for saving these major rivers of
our country from pollution.
(b) It was proposed to build large number of sewage
treatment plants, so that only treated sewage may be
discharged in the rivers.
(c) To control water borne diseases by means of water
treatment process.
Select the correct answer from the following options.

(1) (b) and (c) only
(2) (c) only

(3) (b) only

(4) All (a), (b) and (c)

100. g ot & RO g1 F91S IF areft et & ded o
fFrefafea ¥ Yo a1 o faw &2

T O} TR F ol b AR $ fAT 19 & w9 9 BR
(DW%

(2) 3 RIPR &I TR B a0 5 o &

T WOt BT IRING BT T HASIR SRR I, WRHEU & folu
(3)3&365&?3??&13&37%%%

3 U TR | HSTicRI & fAfderdr ot §71g 3@+ § werdr e
g
101. 2t farerent fonfoad v &2

(1) I

4

(2) @R
(3) TR
(4) SRIET 7T

102. 'BOD' & G&¥ H el S BT 9 DIy

Sifder SHER & SR, GeHs1a SefTe uareif & Tg T B

)\sw*m«n%’, S g9 BOD dgar g

Tg oifaRiie 61 98 HET & I oA §RT U ofle’ o o
(Z)WWWﬁWWWB%WW%

T YT WU I IURIE Sl § SURRIT Prdf~ep yerel &l A9
g

3R St @1 BOD fSia a1feie 81T, SHeb! Hguur & +ff
@) S & it v

103. i1 3iR T vaeH W & IR A fyAfefEd § § ol qvee 9
HYT Fal o/e?
(a) T IR QRO 3R I 7T GRT 89K < 6T 37 W
T T UV A T b folg g I TS off|
(b) SISt TRET H g1fEcHet SUTAR T g BT YT 8, dlfeh Ay
H Pt IUATRG aTfEael Bl & BT off o |
(C) STt SUAR UfhaT & ATEIH | STt STt T o FRIAT =T
A fewed 5 ¥ |8t SR & 78+ S|

(1) Faa (b) 3R (c)
(2) Hae (c)
(3) e (b)

3

(4) T (a), (b) 3R (c)

40



Final Test Series(P1)-2024-25_ Test-02B

104. Identify the following statements as true (T) or false (F)
and select the correct option.
(A) Leavening of the bread is caused by the secretion of
three enzymes by yeast-Amylase, Maltase and Zymase.
(B) In tertiary treatment of water, UV rays are not used for
sewage treatment.
(C) Bacillus thuringiensis is a microbial agent used to
control butterfly caterpillars.
(D) Blue green algae add organic matter to the soil, thus
increasing its fertility and alkalinity.

(1) A(T), B(F), C(T), D(F)
(2) A(T), B(T), C(F), D(F)
(3) A(T), B(F), C(T), D(T)
(4) A(F), B(T), C(F), D(T)

105. Which of the following is the most active, non-symbiotic
nitrogen fixer in rice fields?
(1) Rhizobium
(2) Aulosira
(3) Azospirillum
(4) Glomus

106. Read the following statements.

Statement (A): Many animals use the diurnal and
seasonal variation in light intensity and duration as cues
for timing their foraging, reproductive and migration
activities.

Statement (B): Thermoregulation is energetically
expensive for many organisms like shrews and humming
birds.

In the light of the above statements mark the correct
option.

(1) Both the statements (A) and (B) are correct
(2) Both the statements (A) and (B) are incorrect
(3) Only statement (B) is correct

(4) Only statement (A) is correct

104. fyAfafRyd HUHl $ T (T) 1 /A (F) & B H gy 3ik
& et &1 e HIfS)
(A) s 5 TR I dive GRT Efae A TSI THIgerS, Heest
3iR SIS & HRUT BXT B
(B) I & Jaiud SUAR H, Alfecel SUAR & fa UV fawon &1
ST & fohaT ST &
(C) IfBerer gRIGUAT T eToidt HREG & fFadT TN
FERUIATS hexfUerR BT FRIFT at & A fpa Sirar &1
(D) a1 &R darer a1 & B yare! 9T d E, SRy SR
IR 3HR & 9g It 1

(1) A(T), B(F), C(T), D(F)
(2) A(T), B(T), C(F), D(F)
(3) A(T), B(F), C(T), D(T)
(4) A(F), B(T), C(F), D(T)
105. frafafyd & & @9 91 99 & Wal § e Nfgd afh,
STESHIdT ATSgIoT RGN §72

(1) VIR
(2) SIS
(3) TAIGISRTT
(4) T

106. frfaifgd HomT @ ufeu|
HY (A): g J 10l Treprer Y <fteret iR srafel H S e Hiet
I T IR & Tl bl & ®Y BT H AT &
PUF (B): AT &3 Sfal oI 5 Hoire 3iR g uaft & forg
Foff & T § wdfer B
IWRIH HYAT & T J TaY fAdvey o1 fafgd HSrg|

(1) BUF (A) 3iR (B) S H&t &

(2) BUF (A) iR (B) SF1 TeTdl &
(3) HaeT B (B) TEl &
(4) HI B (A) TE &
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107.

108.

109.

110.

Exponential growth results in a
population density N in relation to time.
Select the correct option to fill in the blank.

when we plot

(1) Straightline parallel to the time axis
(2) Hyperbolic curve
(3) Parabolic curve

(4) J-shaped curve

Barnacles growing on the back of whale is
(1) Protocooperation

(2) Commensalism

(3) Mutualism

(4) Competition

Resource partitioning is an important mechanism of
(1) Competitive exclusion

(2) Competitive co-existence

(3) Competitive release

(4) Competitive interference

Curd is more nutritious than milk as it contains number of
vitamins especially

(1) Vitamin K
(2) Vitamin D
(3) Vitamin B12

(4) Vitamin A

107.

108.

109.

110.

TS &9 THY P AU TH® T N BT MeTRId B &, ol TRedieh!
gfg & uRorFeasY T BId1/Ew &l
ek T2 61 gftf & foT el faed &1 9o HifSg|

(1) T 318 P FAMIR el wam

(2) AR dgh

(3) WA agh

(4) I-3THR &1 Ih

e $Y N3 TR I el g Safar &
(1) STETEEAT

(2) |

(©RiEERS

(4) Turf

T RO R T Heanyt Rraiafa 32
(1) Tl sfesnpvo

(2) Tt He-31fRicd

(3) el e

(4) St are

<21, g &1 e rfde difts ai & Fife e @8 faerft, ey
& EEIE

(1) fer™= K
(2) e D
(3) e B2
(4) fe= A
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111.

112.

113.

Match the following columns and select the correct option
Column-I Column-li

(a) Trichoderma polysporum (i) Statins

(b) Streptococcus (i) Citric acid

(c) Monascus purpureus (iii) Cyclosporin A

(d) Aspergillus niger (iv) Streptokinase

(1) (@)(iii), (b)(i), (c)(), (d)(iv)
(2) (@)(i), (b) (), (c)(iii), (d)(iv)
(3) (@)(iii), (b)(iv), (c)(), (d)(ii)
(4) (@)(iii), (b) (), (c)(iv), (d)(ii)

Some alcoholic beverages like whisky and brandy cannot
be produced without the process of distillation because

(1) These beverages are not formed from natural products

Enzymes responsible for alcoholic fermentation

@) become inactive at higher temperature

Brewer’'s yeast dies when the alcohol concentration
reaches about 13 percent

©)

There is no role of microbes in producing such
beverages

)

Read the following statements and select the correct
option regarding lactic acid bacteria (LAB).

Statement-A : LAB produce acids that coagulate and
completely digest the milk proteins.

Statement-B : LAB play very beneficial role in checking
disease-causing microbes in our stomach.

(1) Only statement A is correct
(2) Only statement B is correct
(3) Both statements A and B are incorrect

(4) Both statements A and B are correct

111. fyAfafRyd Bietd o1 el HifSU 3R & fpey o1 T ST

PieT-1 Dicr-Il
(a) creaicaf 0] wfeq
g
(b) welminy (if) fafg® st
© Ay greeisr || (i) || Argee iR
A
(d) QRIS TSR (iv) FEIPHIST

(1) (@)(ii), (b)), (), (d)(iv)
(2) (a)(i), (b)(), (c)(ii), (d)(iv)
(3) (a)(iii), (b)(iv), (c)(i), (d)(ii)
(4) (a)(iii), (b)), (c)(iv), (d)(ii)
112. 35 Yedleiel! U Uare SR BT 3iR Si<t o Screr SIiae b
T3 & T 12T 3 1T ehetr aifes

(1) A 0T UETS] W1 i Ieural § e al §

Teplelcl] fbue & foly STRerll UoTed affdies o= W
@ s

UeahIeTel i Higal T 13 Tfirerd 8 R st ofiee &t 9
®) arameirg
(4) U U UerIf o SedTe H GeHSId! 1 DTS (AT T8l Bl &

113. frafafyd wemi o ufey @ik dfacs ara A (LAB) & Feg

5 8 ey &1 797 HfS
HYT-A : LAB U 371 I Rdl & S g9 HISH el Febfed el
gaRs2 Ui wU A U@ <A B
PUF-B : LAB §R ST H I II et dlet Geoial 1 gfg
PI A H g ATIBRY AT (T £
(1) P P A T B
(2) $IA P B T B

(3) P A TAT B a1 Terdl &

(4) BT AT B 31 HEl &
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114.

115.

116.

117.

The symbiotic mycorrhizal association does not benefit the
plantin enhancing

(1) Resistance to root-borne pathogens
(2) Drought tolerance
(3) Resistance to loss of water through transpiration

(4) Phosphate uptake capacity

Swiss cheese is ripened by

(1) Penicillium roquefortii

(2) Penicillium camembertii

(3) Propionibacterium sharmanii

(4) Penicillium notatum

Number of deaths in the population during a given period
is called

(1) Natality
(2) Mortality
(3) Immigration

(4) Emigration

Choose the incorrect option w.r.t expanding population.

Pre-reproductive  individuals than

reproductive individuals

are more

)

(2) Itis represented by an upright triangular age pyramid
(3) Such a population shows negative growth

Post-reproductive individuals are proportionately fewer
than reproductive individuals

4

114.

115.

116.

117.

Heoidl dadHe I Hedd urel 5 foherh! gfe o Terie T8 arar 82
(1) FTaTIE JTSa! & TRy TRRYe

(2) T8 B Feeferar

(3) TSNS o HTEIH F Tt Y &1 & IRy Hierrer

(4) DIEHT ISTEU &

e oefiR febsrch gRT uRuerd 81t 82

(1) YRR RIBHIET

(2) IFfafETT HHraet

(3) FISTAeaciRaT 4T

(4) UFRRAeITT FIceT

e ffeRd arafd & SRM TER § 9 arell 3idl & Twur Y R
el ST &2

(1) TR
(2) TIR

(3) SR

(4) SHIR

foreRefie TR & Ff 7 Teret faded o1 9o SIfSiy|

(1) 35 T At Y gorm o wore-ud cafta sifdd Bt €
(2) 39 T e BYSTTaR 31 RIS FRT e foram s &
(3) fr R et gy Safd &

T To aftdl Y g A USH-9ed il uifis

(4)w®a§awzﬁ?ﬁ%
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118.

119.

120.

Select the correct statement for a population growing in a
habitat with limited resources.
a. It grows in exponential fashion.
b. Population growth does not maintain equilibrium with
carrying capacity.

d

c. Equation d—I: = (b—d) xN describes a growth pattern

resulting in a J-shaped curve.
d. It shows initially a lag phase, followed by the phases of
acceleration and deceleration and finally an asymptote.

(1)a,bandc
(2) aand conly
(3) conly

(4) d only

Identify the parts A, B and C w.rt biogas plant and select
the correct option.

(1) A—Sludge, B—Np, C — Gas holder
(2) A—Gas holder, B—Hp, H2S, C — Digester
(3) A—Digester, B—N20O2, C — Gas holder

(4) A- Digester, B—H2S, C — Sludge

In the exponential growth equation N¢ = Noert, e

represents

(1) Population density after time t
(2) Population density at time zero
(3) Intrinsic rate of natural increase

(4) The base of natural logarithms

118.

119.

T et dlel ST J gedl 9 P U TEl B Bl T
ISl

a. I8 TR wY § g B

b. T gig UINUT &7 & 1Y T 91¢ e i o

c. FiR N = (b—d) xN TP ghg Yo @1 aui w=ar §
I IR J-31Th R T dgh &Il &

d. I8 JIRY § ugeia U 29ridt 8, 99 d1e @R 3R He qer
e gt greeent el €

(1) a,baRc

(2) Pt a 3R ¢

(3) Pac ¢

(4) dae d

TR E & Eef F A, B 3R C 9T i uga o g¢ 3R W@
ey o1 9 Hifd |

= T

TG AT | joma ooy et

L 4 l

7

N
(1) A— 379, B — Np, C — ¥ 8lee
(2) A- R 8lee}, B — Hp, HpS, C — FuIfel
(3) A—HUIFRA, B — NOp, C — I Bleek

(4) A — S, B — HpS, C — 31U

120. Reraie! i Geieor Ny = Nge't , e garfar

(1) T t & 1S T 9 DT
(2) LT T R TR T Pl

(3) UTpfie gfg i iaiem R &l
(4) TTPID STGTUD & IR B
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121.

122.

123.

124.

Allen’s rule states that

Mammals from colder climates have longer ears and
limbs to maximise heat loss

(1)
Mammals from colder climates have shorter ears and

@ limbs to minimise heat loss

Mammals from tropical climates have shorter ears and
limbs to minimise heat loss

®3)

Warm blooded animals have larger body size in colder
climate than in hotter area

4)

Amensalism is a type of interspecific interaction where
(1) One species benefits without affecting the other
(2) Both the species are benefitted by the interaction
(3) One species is harmed and the other is unaffected

(4) Neither of the species is harmed

If 5 individuals of a population of 50 fruit flies died in an
interval of one week, the death rate of the population
during this period (in terms of individuals per fruit fly per
week) will be

(1) 0.2
(2)0.1
(3)0.11
(4) 0.15

Salt concentration in inland water is
(1) 30 - 35 parts per thousand

(2) 35 - 50 parts per thousand

(3) 10 parts per thousand

(4) <5 parts per thousand

121.

122.

123.

124.

Vel T R garar & &

S FeTarg alel TAETRAT § ST di 81 B fdiead o= &
(1)ﬁqa'€rwaa1trﬁ‘€lﬁ§

3 TR aTel FITETRAT 5 ST ! B BT AT P b
g B T qer are 8 &

I STeTdry dlel FITETRAT H AT 1 81 Bl A
®) 2 ¥ R o am qer TR AR &

T T dlet WO & SRR &7 MR T & & gorl § 3t
SeTarg | a7 BIaT &

SARSITIT-TRSMITT T UHR hY fRNICT IREIRS forar &
e

(1) T TSI, SR AT 1 AHTI 5 3T 7 T17 et &
(2) SFT TSI 1 3 UREIRE {3 § T UTH BT §

(3) U SITT o BT Bl & TR SE HSAy SFu1faid & &

(4) ot oft ATy a1 ETf+ T8 ugercht &

TS U THTE P SITRTA H 50 el Al & T F § 5 Ifeai 6t
g &l W &, O 39 oafg & SRM IR &l 9 R (@t ufa
Bt Had! Ty qaTe & T H) 2t

1) 02
(2) 0.1
(3)0.11
(4)0.15

T XA STt Y T qur Figa el &

@

4

(1) 30 — 35 9T Ui &9IR
(2) 35 — 50 R U &R
(3) 10 HFT Tfdl &R

(4) < 5 HFT Ufd &R
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125.

126.

127.

128.

Find the incorrect statement w.rt.

management.

integrated pest

It involves tactics for control of single pest on one or
more crops

@)

It uses the most effective, economically safest,
ecologically sustainable and sociologically acceptable
combination of physical, chemical and biological
methods to limit the harmful effect of crop pests

@)

The overall objective of IPM is to maximise nutrient
contentin the crops for pests

©)

IPM uses pest resistant or tolerant varieties, predator
(4) and pathogens, use of parasites, summer ploughing,
late planting for controlling plant pests

Which of the following bacteria fix N, only in free living
condition?

(1) Azotobacter
(2) Nostoc

(3) Anabaena
(4) Rhizobium

Which of the following is odd w.t. the response of
organisms to abiotic factors.

In bacteria, thick walled spores help them to survive
unfavourable conditions.

@)

Many animals particularly birds during winter
undertake long-distance migration to hospitable areas.

@)

In higher plants, every vegetative structure helps to tide
over periods of stress.

®

(4) Bears undergo hibernation during winter.

Density of population (N) at time t can be correctly
expressed as

(1) Nt+1)=Nt+[(B+E)— (D +1]
() N@t+1)=Ngx[(B+1)—- (D +E)]
(3) Nt+1)=Nt+[(B+D)—(E+1)]
(@) Ng+1)=Nt+[B+1)-(D+E)]

125.

126.

127.

128.

Thigd died Teer & T H et B2 S1d HIfTg|

T TP A1 TS A AfF Bl R Udal dic & FRE Hi
O et amerer e 2

T Bl & Y@l & BHBRS Y9Ta BT WA I & oIy
e, I @R SHIw it & Fay gore, anfds v J

@) g e, SRFERe w0 @ el ik e o Q)
BRI TSI T YA BT ST &

IPM T THY I29T Uiee! &b T il H ONe dedl &l 7T
(S)GT@EW?W%

IPM H ties uferref) a1 geefier foreet, wmerférat aiik Jmi=ient,
(4) TSN 1 Iwv, AT s, del & dewt @1 FEha
P & Tl R I AYVT BT STANT b STl &

frafafya & § @9 a1 Sfa] N, &7 Haat goh-ofdr fefy o
FERId e 872
(1) ToelFeY
(2) TETH
(3) VAT
(4) VIR
3ifd BRep! &b ufey Sfial Y ufifshar & e o Fefafea d 9
BT AT B

Stiamat ® A1t iR g diey I e aRfefrRl |
) S e & w1

3 TToft, faerar: veft, |fdal & SR &l g 1 A P
@) o st a5 o o
ST Gl J, UAd BRI TR d1d $i 3rafg § e 8
HERIdT el &

(4) T P SR 71e, fafrespadT | o &

THT t R AR T (N) P Hal U H 39 YHR ARYh fbar ST
el &

©)

(1) Nt+1)=Nt+[(B+E)— (D +1]
(2) Nt+1)=Ntx[(B+1)— (D +E)]
(3) Nt +1)=Nt+[(B+D)—(E+1)]
(@) Ng+1)=Nt+[B+1)-(D+E)]
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129.

130.

131.

Which of the following are correct examples of population
interactions, which show, ‘+' ‘' pattern?

(a) Cuckoo laying its eggs in a crow nest

(b) Penicillium inhibiting growth of surrounding bacteria

(c) Pisaster and invertebrates in the American Pacific
Coast

(d) Flamingoes and zooplanktons

(e) Abingdon tortoise and goats

Select the correct ones

(1) a,cand e only
(2) b,d and e only
(3) a,cand d only
(4) b,d and c only

The organisms used in bread and beer production is
(1) Yeast

(2) Lactic acid bacteria

(3) Candida

(4) Penicillium

Blood cholesterol lowering agent statins are produced by
alan

(1) Bacterium

(2) Fungus

(3) Cyanobacterium
(4) Alga

129.

130.

131.

e 5 9 o & Y uReuRe fomaett & Heat SereRur €, Y
“+ Yoo qarfa &2

() PRI BT BT P T H§ 7S T

(b) IAFBIGT &1 STH-UT & STt 6 gfeg ol AT

(c) 3R Herid de # grgwivev 3ik 3

(d) Tt ofR mifdrceTas

(e) UfSTe Fgpa iR Fand

T Y a1 7T DY

(1) $9e a, c 3R e

(2) P9 b, d 3R e

(3) ¥ a, c 3R d

(4) Fad b, d 3R c

S€ 3R doR & SdTer H SUIRT 8 aretT ofta &
(1) e

(2) cifFees vfie dadiRa

(3) HfesT

(4) TG

T PlATC A Dl B TR It PRB T B FRT I &l
&2

(1) Sfiary

(2) PID

(3) ARAFCIREH
(4) gt
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132. Mark the correct statement w.r.t. the figure given below.

Biogas
Floating Roof | .

Sludge Inlet—E.

Spent Sludge

)

microbes into flocs

It is an anaerobic sludge digester that has anaerobic
(2) bacteria, that digest the bacteria and fungi present in

sludge

©)

involves the removal of small and large particles

“4)

sludge aerobically

133. The correctly matched population interaction is
|:||Species A||Species B||Name of interaction|

@+ |=
@)= I
@)= |=
@+ =
M ()
@ @
3 @)
4) @)

|[Mutualism |

||Competition

|
||Predation |
||Parasitism |

It is an aerobic tank that shows growth of useful

The given figure depicts physical process which

It is an activated sludge digester which digests the

132. iy fey 7y i & T # TEl e b fufed HfST

I8 U agdig o & o Suart gesrelial & e A gfg o
DasTfaT%
(Z)ﬁmﬁwﬁﬁmsﬁwﬂzﬁmwaﬂﬁ%

& S aafer Wi wfohar Y quifcht & O Bie 3k 99 ot
(3)ﬁs€manﬁa%

(4) T8 U Hfsh2T AT U & ST MU T IRIGT B § Tarel &

(

133. Tl vy Y e areft g9fe areaRe fohar &

yofdA || yemfiB | IRER® frm e am
@ | + - SEREAIG]
@ | - + werf
(3) - - TR ET0T
@ || + - TR

@ @)
2 @
(ONEC)
4) (4)
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134. Find the correct graphical representation of organismic 134. Swfog & g9 § Sifdw g @1 TSt Ry g s g
response w.r.t. conformers.
HIfST
s 1
]
™ i
= (1)
=
= > ;
External level — -
Tl = —-
1] 4
s t
&
2 = E
=
=z @)
=
= > .
External level —# .
i Tl T, — ™
1 A
T t
3 :
® T i
T (3)
=
= . ;
External level —= .
T AT Tt —
&
: t
Z
4 j—
@ 5 i
5 )
=
= > )
External level —= -
gl &t —
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135.

136.

137.

138.

Match the list | with List Il

List Il (Name of
List I (interacting species) the
interaction)
An orchid growing as an epiphyte
' on a mango branch

Flamingoes in South American
" lakes and resident fishes

c. Marine fishes and copepods

Relationship between a fungus
d. and photosynthetic algae or
cyanobacteria in lichens.

Choose the correct answer from the options given below
(1) afiii), b(iv), c(i), d(ii)
(2) a(ii), b(iv), c(i), d(iii)
(3) afiii), b(i), c(iv), d(ii)
(4) a(iv), b(iii), c(i), d(ii)

(i) Parasitism

(i) Mutualism

(iii) Commensalism

(iv) Competition

135. gt | 1 gt 1l & e e HifST)
it | (TRaRe foar < areft s

3T Y TRIT R AfEUIY & HIH I
% arem anfe

Sfaror SR et & werfii iR T
ot
c. TS TBfaar ok diftured

SATgH H B 3MR UpHTeT-THeerdt darer
Ut g R e i
rar g U Redt # & W& SR &1 T HRY
(1) a(iii), b(iv), c(i), d(ii)
(2) a(ii), b(iv), c(i), d(iii)
(3) afiii), b(i), c(iv), d(ii)
(4) a(iv), biii), c(i), d(ii)

A Il (TRERD
forar 1)

(ORRISIlES
(ii) TR
(iiii) TSI

(iv) Fugf

ZOOLOGY | Sig fa=tF

A heteropolymer which exists as the most abundant
protein in the animal world

(1) Is absentin blood
(2) Acts as a transport protein for glucose
(3) Isirregularly arranged in tendons

(4) Is tightly packed in areolar tissue

A secondary metabolite whose monomeric unit is glucose
and is presentin the cell walls of plants

(1) Possess a N-terminal end at the left side
(2) Gives blue-black colour upon treatment with iodine
(3) Has a non-reducing right end

(4) Does not contain complex helices in its structure

The sugar presentin DNAis a

(1) Hexose sugar

@) Pentose sugar in which oxygen is present at ond
carbon

(3) Monosaccharide

(4) Dissaccharide

136. U geRUiei R ST Sig ST § eI YR AAT § W & ®Y A
U BT &

(1) h H U BIe &

(2) PN F folg uRaes M & v o &1 v &
(3) T H AT HU T AU B &

(4) TE TRBIER It H HHDbR 8l &Il &

137. uo focige SuTgeast O AHMRE 3H1E o & 3fiR il 6

HifrepT IR H Iuferd et &
(1) 91 3R v N-fifeT RRT 8l &
(2) SR | SHIR P R HAAT-BIeAT I <l &

(3) DT SRAT FRT 3379 Bl &

(4) ST TR H Tfce efctas T8 8l &

DNA ¥ IR/ 2T T &

(1) BTN BT

(2) Hert et fore 2N @i IR st Sufed BT @
(3) ARITES

(4) SREPTS

138.
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139. Read the given statements and select the correct option.

140.

141.

Statement A: The type of co-factor that interacts with
peroxidase is actually an organic compound which is
tightly bound to the apoenzyme.

Statement B: Catalase and carboxypeptidase possess
same type of inorganic co-factor like haem.

(1) Both statements are correct
(2) Both statements are incorrect
(3) Only statement A is correct

(4) Only statement B is correct

Bidder's canal is presentin A of frog and is responsible

for transportation of B to C that comes out of

kidneys and opens into cloaca.
Choose the option which fills the blanks A, B and C
correctly.

(Ja_JB__Jc |
|Testis ||Sperms||Ureters |
[2][Kidney]|[urine [[ureters |
|Kidney||Sperms||UrinogenitaI duct|
|Testis ||Sperms||urinogenital duct]

@ @)
2 @)
OXC)
4) (4)

During hibernation, frog respires with
(1) Lungs only

(2) Moist skin

(3) Buccal cavity only

(4) External gills and lungs

140.

141.

139. Ry U BT Bl Tghy Tel et BT T DI |

DU A: TRIFHISS P A A:FHdT H aATAT He-HRD avad |
Tep pIa1ep Alfilep & ST TUICSITEH W gl H ST 81 &

P B: Bl AR dEaEesS J &F & T9H & BEHD
HE-HRP Bl 8l

(1) SF1 BT TE B

(2) 31 P TAT &
(3) P P A TE B
(4) Pat BT B HEl &
Rk dep® A HddiEedigslk B @ ¢ @@ a
S & oy Iavert Bt & S gas J Frert & iR s §

Gerch B
IG fIhed &1 9a HIfAT o Reh T A, B IR C T T 1 9

WA B

[]
>
1
0]

AN

(Bl ]e]

SIS [T aTfaet

ST o SR, Hed eara ordr &
(1) FIT RS

(2) T =T H

(3) Pt T J&TH

(4) ST FAH TAT b A
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142.

143.

144.

Match column | with column 1.
Column| Column i
a.  Trypsin () Fights infectious
agents
b.  Antibody (i) Responsible for

sensory reception

C. Receptor (iii) Proteinaceous
enzyme
d. Water (iv)  Abundant chemical

in living organisms
Select the correct option.

(1) a(i), bii), c(ii), d(iv)
(2) a(iii), b(i), c(ii), d(iv)
(3) a(iv), biii), c(i), d(i)
(4) a(iii), bii), c(i), d(iv)

Choose the correct match.

Prosthetic group — Transiently associated with protein
part of an enzyme

@)

(2) Co-enzyme NAD — Contains vitamin riboflavin

Metal ion — Forms coordination bonds with the side
chains at the active site of an enzyme

©)

Apoenzyme — Non-protein part of a catalytically active
enzyme

4

The structure of protein which provides positional
information of amino acids is ‘X’ that possess

(1) Hydrogen bonds
(2) Peptide bonds
(3) Disulphide bonds
(4) Ester bonds

142.

143.

144,

DIt | BT Dictd || § A= HifST

HieTd | Hier Il
a.  fRfRF () pmd HRDI H T
g
b. e (i) G sifmewr & fag
IoverRf &
c U (i) g o §
d g Shifere Sfiai 5 wgR 7/
™ o
el fdeed 1 = BT

(1) a (i), b (i), c (i), d (iv)
(2) a (iii), b (i), c (i), d (iv)
(3) a (iv), b (iii), c (i), d (i)
(4) a (iii), b (ii), c (i), d (iv)
TE et &1 = HIIT

IRACH g — U TSTgH & WISH A1 ¥ 41w U I <1
(1)‘5"[?!'[%

(2) FE-TSTSH NAD — 5 fIeTfee Igaitelf 8t &

$Tg ST — USTIgH o Wfehd Fiel W U1ed SRIeT & 1 v
ELEEIGIN

®)

(4) TUIUSITST — I3RS Y I Aichd TolTeH BT IR-UICH 91 &
gax e ___ @aE

(1) BIERIo 9

(2) UeTES

(3) STEHHIES IY

(4) TR
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145. Read the following statements.

146.

147.

148.

Statement (A): Zwitterion of all the amino acids exists at
the basic pH only.

Statement (B): In the solutions of different pH, the
structure of amino acid changes.

Select the correct option.

(1) Both statements (A) and (B) are correct
(2) Both statements (A) and (B) are incorrect
(3) Only statement (A) is correct

(4) Only statement (B) is correct

How many endocrine glands among the following are
found in frog?
Thyroid, Thymus,
Parathyroid, Pituitary
Choose the correct option.

(1) Seven
(2) Six
(3) Five
(4) Four

Pineal body, Adrenals, Gonads,

Transition state structure in an enzyme catalysed reaction
haslis

(a) Low stability

(b) Low potential energy

(c) High potential energy

(d) High stability

(e) An intermediate structural state

Select the option with correct set.

(1) Only (a) and (c)

(2) Only (b), (d) and (e)
(3) (). (b) and (c)

(4) (@), (c) and (e)

The walls of internal organs like stomach and intestine
have muscle fibres that are

(1) Cylindrical and branched
(2) Fusiform and syncytial
(3) Tapered at both ends and uninucleated

(4) Cylindrical and unbranched

146.

147.

148.

145. ffafyd el @ ufeul

HUF (A): Tt 3FfAY oral T RIeRI ddel RIg pH R &
SUEYd B &

P (B): AT pH & faerzmi & AT 3ret & TReMT et STl
2l

& et &1 9 HIfS)

(1) 31 B (A) 3iR (B) W& &

(2) EF1 B (A) iR (B) TeTd &

(3) HaeT B (A) TEl &

(4) AT D (B) WEl &

Aok & fFrfafya 3 § feat sia:ard) ufd arf S &2
&l ey 1 == HifSivl

(1) \rd

(2)®:

(3) U

(4) @R

oy SR srfiferar o Hepeur st TReFT § Bt §
(a) 7= feoRaT

(b) = farvra St

(c) o favg St

(d) Soa feRaT

(e) Ueb Hegqcil e feufel
e G TaT & Y fadey o 9o B

(1) e (a) 3R ()
(2) da (b), (d) 3R ()

(3) (@), (b) 3R (c)

@) (@), () ¥R (e)

afafas s SRy T ok e &Y Frfral § doft ag B &
(1) STIPR 3R fEa

(2) TG 3R Tghsh
(3) I I W uctel 31 Tapdpeafehel
(4) 9ETTBR SR LA
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149.

150.

151.

152.

Glucose can be ultimately metabolised aerobically or
anaerobically along similar metabolic pathways to form
any of the following end products except

(1) Ethanol

(2) Pyruvic acid
(3) Lactic acid
(4) Glutamic acid

Select the correct match regarding the mouthparts present
in cockroach.

(1) Labrum — Lower lip
(2) Labium — Upper lip
(3) Hypopharynx — Acts as tongue

(4) Maxillae — Bear photoreceptors

Statement, which is correct w.r.t. double helical structure of
DNA given by Watson and Crick:

(1) A of one strand bonds with G of another strand
(2) C of one strand bonds with T of another strand

The backbone is formed by sugar-phosphate-sugar
chain

®

The nitrogen bases are projected more or less parallel
to this backbone but face outside

4)

While analysing the chemical composition of the living
tissue, the sample is generally grinded with the help of
mortar and pestle in

(1) CH3COOH
(2) CI3CCOOH

(3) NacCl
(4) CH3(CH2)14COO0H

149.

150.

151.

152.

TSDINT DI 3fcTeT: T SuTaeRdt geli & 1 g AT AR wY
I IR fhaT ST e &, foaRy fFefeifRaa 3 O fobaes Ifale
pIs oft 3ifeH ST 7 FepaT 872

(1) 3Tt

(2) UTSfdD 3FFel

(3) AfFea arat

(4) T 3l

P H AR TxF 7RI & ] # el et &1 9o HIfSIT |
(1) SIS — 37ERTS

(2) T — Sedfs

(3) TR — g1 & wU F B el &

(4) AT — 3T R Y17 TTET B &

T8 B, I aIeE 3R b GRT S TS DNA 6t fagrefart wemT
& gef F wet

(1) Th TS BT A, TRES D G P T1 98 Il 8

(2) TP FS BT C TR FGS $ T P A Y AWM &

(3) SITHR 5, ATDRT-TIEhC-ATPRT SIS GRT FTS ST &

AZEINT &R FHANL T SR Ty, B TR olfdh qTex Bl
“) e e

ST Saw 6 IRHG TREFT BT AL dRd F9, T B
ATTAR TR 7 AR 3R TH 6T FETIT 3 G ST &

(1) CH3COOH

(2) CI3CCOOH
(3) NaCl
(4) CH3(CH2)14COO0H
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153.

154.

155.

156.

Read the following statements and choose the option with
correct statements only.
(@) Enzyme activity
temperature.

(b) Enzymes get denatured at high temperature.

(c) Competitive inhibitor competes with the product formed.
(d) Low temperature preserves the enzyme in a
temporarily inactive state.

(1) (a) and (c)
(2) (b) and (d)
(3) (a) and (b)
(4) (c)and (d)

increases above the optimum

Frog's eyes are protected under water by the presence of
(1) Retina

(2) Movable upper eyelid

(3) Nictitating membrane

(4) Immovable lower eyelid

Assertion (A): Vitamins are crucial component of many
co-enzymes.

Reason (R): Vitamins form permanent, coordination bonds
with the substrate and enzyme.

In the light of above statements, select the correct option.

Both (A) & (R) are true and the (R) is the correct
explanation of the (A)

Both (A) & (R) are true but the (R) is not the correct
explanation of the (A)

@)

@)

(3) (A) is true statement but (R) is false
(4) Both (A) and (R) are false statements

In primary structure of a protein, methionine is located at
left end of polypeptide chain while glutamic acid is located
at right end. Which of the following statements is true with
respect to above mentioned protein?

(1) Methionine is a C-terminal amino acid
(2) Glutamic acid is the first amino acid of the chain
(3) Glutamic acid is N-terminal amino acid

(4) Methionine is the firstamino acid of the chain

153.

154.

155.

156.

SISl

(a) TSITZH I TRIRIE ST AT & HWR 9 STt 2

(b) STT A R TITRH fadd 8 ST &l

(c) ufereerferes Tewe M Scre & are wfoegef e g1

(d) BHF AT TSI DY Tt U F s araveer # Rgam &1

(1) (2) 3R (c)

(2) (b) 3R (d)

(3) (2) 3R (b)

(4) () 3R (d)

e dY i STet A forerht Suferfcr & Rfara e 82
(1) e

(2) TTIHF R GeTch

(3) Fove fareht

(4) 3TTTIHT BESINEEY

HY (A): R 5% Te-UaTTeH! & Fecagf Bee axd 8

PR (R): I fpameR ok Toigd & are Tormfl, TH=ay 9
EEIh]

IR BT & T 1, el fIhed BT 7= HfRT|

(1) (A) 3R (R) 31 Hel & iR (R), (A) T Hel Tqefianur &

(2) (A) 3R (R) 31 T& & I (R), (A) T HE Tl T2 &

(3) (A) |EI & aifdhT (R) Tt &

(4) (A) 3R (R) S et &

IS &1 a1eifiies T A, AN dicfliteTzge saett & I B8R
R O BIdT & Safch IeTfie et &Y BR W T 81l &1 S9gh
MR & Feof 7 Frafafad 3 9 i a1 wem |8l 22

(1) "N C-cfiFet onfil oval &

(2) ST 3Tt SRFTT BT U ST 37 &

(3) TICTH® 37t N-Cfieer afT a7t &

(4) AT, AT D1 T ST 37t &

56



Final Test Series(P1)-2024-25_ Test-02B

157.

158.

159.

160.

161.

Aggregates of cell membranes as vesicles after
homogenisation are obtained in which fraction after
chemical analysis of a living animal tissue?

(1) Acid-soluble fraction
(2) Acid-insoluble fraction
(3) Filtrate fraction

(4) Micromolecular fraction

In female cockroach, genital pouch is formed by
sterna.
Choose the option which fills the blank correctly.

1) only 7" and gt
(2) 7th gt ang oth
(3) only 6" and 7t

(4) only 9t and 10t

Select the incorrect match w.r.t. male frogs.

(1) Liver and pancreas - Digestive glands

(2) Circulatory system - Closed type

(3) Cloaca - Passage for faecal matter, urine and sperms

(4) Conus arteriosus - Dorsal side of heart

The property thatis found in muscle fibres and notin nerve
fibres which enables muscle fibers to shorten its length, is

(1) Conductivity
(2) Contractility
(3) Excitability

(4) Insulation

Communication junctions at some fusion points allow
which of the given muscles to contract as a unit?

(1) Striated, voluntary muscles
(2) Unstriated, involuntary multiunit muscles
(3) Voluntary, skeletal muscles

(4) Striated, involuntary muscles

157.

158.

159.

160.

161.

THTTIERUT & 91 gfeaTeti & U # Hifdren fifsr & wgead shifad
7Ot I5cieh & IRITP LT & &1 b 3fer 9 9T 81l 87

(1) 3cf-geTiefiet aier
(2) 3FeT-3rgeTiefier 3fer
(3) =g 3

(4) GEHI3ATTID 37e1

HIGT DIHRIT N ST DI 3TeRe (FeT) gRT AT g 2
I feed BT g BT oIt R T Y gl |al & o 81

(1) P H g 3T

(2) R, 37134 T AT

(3) HacT B34 g A

(4) P H1d T THd

TR Hed! & T A Terd el 1 707 DIyl

(1) TP 3R =12 - gre Hi

(2) URERERY T - 93 TR

(3) STDR - IR, T 3R FepTupaii & foig AT

(4) BT ATCRAURT - T BT ISR TR

& o 1 ueft dgat | T ST & SiR dfeeT dgail J el S
& 3iR Ueft digail 1 aTS Bl BICT PR A FeH S B

(1) eTeHar

(2) Sgaefieran

(3) SIorefterar

(4) SHTET

B Hord [Hgatl R HaR HEAT HIT < TS YRR Pl T TS b
Y F T 8 it §2

(1) &, Ve ulRmr
(2) RFET, it qguee UfRRIT
(3) e85, drevter URRIT

(4) ¥R, ot Aot
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162.

163.

164.

165.

The brush-bordered epithelial cells useful for absorptive
functions in humans are mainly presentin

(1) PCT of nephron and lining of intestine
(2) Ducts of salivary glands and dry surface of skin
(3) Alveoli and fallopian tubes

(4) Bronchioles and fallopian tubes

Enzymes that catalyse removal of groups from substrates
by mechanisms other than hydrolysis leaving double
bonds belong to class named

(1) Hydrolases
(2) Lyases
(3) Dehydrogenases

(4) Isomerases

Which of the following biomolecules has both glycosidic
and ester bonds?

(1) Adenine

(2) Guanosine
(3) Cytidylic acid
(4) Acetic acid

Select the incorrect statement w.r.t. catalytic action of an
enzyme.

The first step is binding of substrate to active site of
enzyme

)

The substrate always binds irreversibly with the
(2) enzyme and prevents the latter from breaking down its
bonds

The binding of substrate with enzyme leads to the
formation of transient enzyme substrate complex

©)

After the product is formed, the free enzyme can bind to
another molecule of substrate

)

162.

163.

164.

165.

TS H, F9 1SR IuDAT DIRTGIY faiye wrf & foly Iugrft
Bt & 3 Jegd: fred Il gl 82

(1) TS BT PCT T2IT 377 & FRTR

(2) TR feRAT T AAferepTy 3R T BT b HI®
(3) PitepT er fEaanfet Aferarat

(4) SafTepTa et REaafet Afcierat

g UOIg9 W St 3uEeq & JffaReh g fhamfafgal g
fopaTeRe! & TRl & 31T B T SR IR el oT Fof dear
g, g o q gefaa &7

(1) BIERTo

(2) ARSI

(3) ReErggfomvra
(4) SATSHERSS

frfafed & & 5 g A sa s iR trex aFi 99 &
g2

(1) gt

(2) A

(3) T arat

(4) Tfafes st

USTTSH 1 IR f3pT b Fd  3TeTdl o T o Diforg|

(1) TS TROT FohaTEIR o USTTSH & Hfshdl Tt | qigT 8

fopaTerR EH9TT ToITgH o 1 JTAREHIT ®u § g8 & 3R a1
@) a1 o s et oy vy @ Qe

USITgH o 1 fShaTerR & Ser < &ifores UoTgd fopamerR afeasy
®) o frefor e

(4) IS §7 & TS, Teh ToTTSH PATER & S8R 310] 3 S Fhdll &
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166. Bones have___A__and__ B__ ground susbstance rich
in collagen fibres which give boneits  C__
Choose the option that fill the blanks correctly

a1k lc |

|Hard||PIiabIe ||Strength |
[(2)|[solid|[Pliable |[Flexibility |

[(3)|[solid|[Non-Pliable|[Stretchability]
|Hard||Non-PIiabIe||Strength |
@@
2 @)
3 ®)
(4) (4)

167. Choose the incorrect statement w.rt.

americana.

Periplaneta

Anterior end of the head bears appendages forming

@ ;o :
piercing and sucking type of mouth parts.

(2) Anal cerci are presentin both males and females.

(3) Only male possesses titillator.

100-150 yellow coloured thin Malpighian tubules are
present at the junction of midgut and hindgut.

4)

168. How many of the structures given in the box below are
examples of connective tissue?

|Carti|age, Bone, Tendon, Ligament, Neuroglia, Blood
Choose the correct option.

(1) Three
(2) Four
(3) Five
(4) Six

169. In a double stranded DNA molecule, 19% of bases were
shown to be adenine. The percentage of other three bases
expected to be presentin this DNA are

(1) G=19%, C =31%, T=31%
(2) G=31%,C =31%, T=19%
(3) G=19%, C =19%, T=31%
(4) G=19%, C =31%, T=19%

166. fepi § pleoH dgei A @€ _ A 3R B
TS AR S AR BT C_ Ve el B
I fidseq T g HITT S Rk T BT Tl &1 F R &

IR

A |B c
BW SEENICEIESE )|
Eaﬁv SuENICINICEICICE]
Eaﬁ arEAefie ||t
Eaﬁﬁ SERENICENER]
1) @

2) @)
3 ®)
4) @)

167. ofwHer 3mReTS e § Terd B & 9 Hifai|
R & o R & SUFT 81 € 9 ved 3R gEA aret UhR &
Q. .
RGBT &
(2) TR SR AT SHT  TeT o U 8 &
(3) Paat R H & fermfisia (Efeerer) aiar s
100-150 UieT ¥ & Idef Hedfieh Afcien geai= iR goai i
(4)%1@11?311@3%%
168. g diorg | < 7S feba ) TEFTE TS Srcleh T ST 67
TEI ey a1 T ST

@) =

(2) TR
(3) 9
@) ®:

169. fgaT<ia DNA 319 H, 19% &RI ol TS & U § qerfar /2 o1 39
SIUY # Hi[E 3T I &RT a1 wfcrerd g

(1) G=19%, C =31%, T =31%
(2) G=31%,C =31%, T=19%
(3) G=19%, C =19%, T=31%
(4) G=19%, C =31%, T=19%
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170.

171.

172.

173.

Select the correct match.
(1) Glycerol — Tetrahydroxypropane

Arachidonic acid — 19 carbon compound including
carboxyl carbon

@)

(3) Phospholipid — Lecithin

(4) Palmitic acid — Molecular weight more than 1000 Da

Select the option representing only the correct statements
w.rt. morphology of frogs.

(a). A membranous tympanum is present on either side of
their eyes.

(b). They do not have webbed digits in hind limbs for
swimming.

(c). Mucous glands are present in their highly vascularised
skin.

(d). Their body is divisible into head, neck and trunk.

(1) (a) and (c)
(2) (b) and (d)
(3) (a) and (b)
(4) (c) and (d)

Choose the correct statement.

Nucleic acids like DNA and RNA are found in the acid-
(1) soluble fraction upon chemical analysis of a living
tissue.

N-acetylglucosamine, a modified amino sugar is one of
the monomer of a heteropolymer ‘chitin’.

@

If the phosphate group is removed from cytidylic acid,
the resulting molecule would be cytidine.

©)

If sugar group is removed from cytosine, the resulting
molecule would be cytidine.

4)

Read the following statements.

Statement (A): Chondrocytes are enclosed in small
cavities within the matrix secreted by them.

Statement (B): Osteocytes are present in spaces called
lacunae.

Select the correct option.

(1) Both statements (A) and (B) are incorrect
(2) Only statement (A) is correct
(3) Only statement (B) is correct

(4) Both statements (A) and (B) are correct

170.

171.

172.

173.

& et &1 9 HIIT

(1) ForRIeT — CgTBTg g

(2) RfFSITaE orat — Fraifarict H1ed Hfed 19 H1e i
(3) BIERIffE — orfafers

(4) WA 31t — 30T AR 1000 Da ¥ 31feied

P! Bl MBS & T & baer G BT PY FHfid B el
e &1 9+ DI

a. ! 3iRFT & el IR frefim ferte Sufeerd Bt &1

b. 3T TR & folg yeguTal # STiergeh fferar &l axct

¢. S rAfeies HagH1g @ H 2ersT AT Hiolg et €1

d. a1 eRR R, 718 3ik g # faifaia e 2

(1) (@) 3R (c)
(2) (b) 3R (d)
(3) (2) 3R (b)
@) (c) 3R (d)
HEl B BT 7T DTy

ST Sde & RS Ao R eFd gaefia sia
DNA 3R RNA S ~gfereta 3Fef U ST &

N-UfHC e U, T HUidRd JrfiAT adwT, gelufel R
@ g iR G

IS BiRhe T g &I IRfefefde sra & gt f&ar oan &, ar
o e e e

I oTRT TE T TSI ¥ & fea S &, ar aRumr arg
(4)915@@?%

ARy HomT @ ufeu|

DU (A): PIQNIESH D GRT T ST &b IR BTt Taraii
R B &

B (B): CTZSH S WIMI A AlgE 81 & o7e g dad
2l

& by &1 = BTl

@)

(1) BUF (A) 3R (B) &F1 Terdl &
(2) I B (A) TEl &
(3) $IA P (B) FEl &
(4) DU (A) 3R (B) SH1 Fel &
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174.

175.

176.

177.

Which among the following options represents correct set
of aromatic amino acids?

(1) Glutamic acid, Valine
(2) Alanine, Lysine
(3) Valine, Serine

(4) Tryptophan, Phenylalanine

Muscle fibres X

in response to stimulation, then
Y and return to their original state in a coordinated

fashion.
Identify X and Y and select the correct option.
X Y

(1) Lengthen Shorten
2) Shorten Contract
3) Contract Relax
(4) Relax Shorten

@@

2 @

©OXC)

ONC)

Select the correct match.
(1) Unicellular glandular epithelium — Salivary gland
(2) Ciliated epithelium — Columnar cells bearing villi in GIT

Multicellular glandular epithelium — Goblet cells of
alimentary canal

©)

(4) Cuboidal epithelium — Epithelium of PCT of nephron

In cockroach, identify the parts of the foregut in correct
sequence and choose the correct option.

(1) Mouth - Oesophagus - Pharynx - Crop - Gizzard
(2) Mouth - Crop - Gizzard — Oesophagus — Pharynx
(3) Mouth - Gizzard —» Crop - Pharynx —» Oesophagus
(4) Mouth - Pharynx - Oesophagus - Crop - Gizzard

174.

175.

176.

177.

e 3 § 3l a1 flwey Wifed oA el & |8l I o
el exar g?

(1) TS 37, de

(2) TATHH, AT

(3) I, IR

(4) ferets, wiervert=

SISl b Wl e H eft /g X R Y SR e

TP W T T ey H SAle 3T 2

X 3R Y & U P He foehed 7 T HifIT |
X Y

1) EEl BIC

2) Bl T

@)  <ghm frfereT

4) forforer B

1) @)

) (2

(3) (3)

(4) 4)

& e &1 T HIIT

(1) VIR Tfelet IuchelT — TR Hfek
(2) vEATH JUBAT — GIT H PR Feh HHIBR DIRNDBI
(3) TEPIRIBI T bl — TER AT B Teeic HIRBI

(4) TTHR YD — THH & PCT DI IuHeAT

HIHRIE 5 A B AN DI e pH H T PR 8! [qhed BT oI
HIITI

(1) 5 — ArGDT - T — I — el

(2) TF - 19 - Goft , TfFepT . T

(3) 3@ - Uwoft . BT, TEHAT — AT

(4) TF - T — AT — DT — Yol
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178.

179.

180.

Select the incorrect statement w.r.t. the nervous system of
frogs.

There are 10 pairs of cranial nerves arising from the
brain.

@)

The midbrain is characterised by a pair of olfactory
lobes.

@)

(3) The brain is enclosed in cranium.

) Hind brain consists of cerebellum and medulla
oblongata.

S-G+S' -.S+S'-G
Which of the following category of enzymes will catalyse
this reaction?

(1) Lyases
(2) Isomerases
(3) Transferases

(4) Ligases

Assertion (A) : Biocatalysts presentin our body accelerate
the rate of biochemical reactions.

Reason (R) : Biocatalysts decrease activation energy of
the reaction.

In the light of above statements, select the correct option.

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

(€]
5 Both (A) and (R) are true and (R) is the correct
2) explanation of (A)

(3) (A) is true, (R) is false

(4) (A) is false, (R) is true

Scan the QR Code for
. Detailed Video Solutions

. (*Video will ba available to access post
8 p.m. an 15" March, 2025 onwards)

[=] %

178.

179.

180.

Hedl & Rl dF & Gy H T B BT 99 HIfT|

(1) ARRTSS F 10 TS SIS dRHHT Fdberd &

(2) FIET ARETSH Teh SAIS! TITOT rferat 3 rfycrerford gy &
(3) AT HUTE o 3ieR T BT &

(4) UL RIS H TFARRTSD AR AgaTT el FIeT 81 &
S-G+S' - S+S-G

3 o I USITEH 7 BT 39 AT Y SRT Hx?
(1) TR

(2) SR

(3) SRS

(4) T

P (A): TIR IRR H SURRT STaSTRD StaRIIRIf~e 3rfrfeharart
HI R B TR IR &

PR (R) : SIISRD IRATHAT T Tfghor Sotf B B v B
IRh BT & wf A TE ey 1 9 HfRTI

(1) (A) 3iR (R) S FEl & I (R), (A) T TeY e 181 &

(2) (A) 3R (R) 31 H&l 8 3iR (R), (A) Pl T8t Az &

(3) (A) FE1 8, (R) ToId &
(4) (A) TAT 8, (R) Fel &

"About the Role of Confidante |

Scan the QR Code to know

in your NEET preparations”
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